

### See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



### Form **990-PF**

**Return of Private Foundation** 

or Section 4947(a)(1) Trust Treated as Private Foundation

OMB No 1545-0052

Department of the Treasury Internal Revenue Service

▶ Do not enter social security numbers on this form as it may be made public.
 ▶ Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

For e	alen	dar year 2014 or tax year beginning		, and ending		
Nar	ne of	foundation	A Employer identification	number		
_ <u>M</u>	AUI	REEN AND PAUL RUBELI FO	20-5935203	3		
		nd street (or P O box number if mail is not delivered to street	<b>B</b> Telephone number			
		1 E. CAMELBACK RD., UNI			480-483-11	.70
-		own, state or province, country, and ZIP or foreign p	ostal code		C If exemption application is p	pending, check here
		all that apply: Initial return	Initial return of a fo	rmer public charity	D 1. Foreign organizations	e check hare
u	HIGUN	Final return	Amended return	ither public charity	1. Poreigii organizations	s, check here
		Address change	Name change		Foreign organizations me check here and attach co	eeting the 85% test,
H (	heck	type of organization: X Section 501(c)(3) ex		<del></del>	E If private foundation sta	
	٦.		Other taxable private founda	tion	under section 507(b)(1)	)(A), check here
1 Fa	ır ma	rket value of all assets at end of year   J Account	ing method: X Cash	Accrual	F If the foundation is in a	
		Part II, col. (c), line 16)	ther (specify)		under section 507(b)(1)	
		5,699,263. (Part I, colu	ımn (d) must be on cash b	pasis.)		
Pa	ırt I	The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a) )	(a) Revenue and expenses per books	(b) Net investment income	(c) Adjusted net income	(d) Disbursements for charitable purposes (cash basis only)
	1	Contributions, gifts, grants, etc., received			N/A	
	2_	Check X If the foundation is not required to attach Sch B Interest on savings and temporary — — — — — — —				
	3	cash investments	162 004			
	4	Dividends and interest from securities	163,274.	137,367.		STATEMENT 1
	l .	Gross rents		_		
		Net rental income or (loss)  Net gain or (loss) from sale of assets not on line 10	498,781.	<del></del>		
Te	h	Gross sales price for all assets on line 63 3, 014, 867.	430,701.	<u> </u>		
<b>E</b>	7	Capital gain net income (from Part IV, line 2)		498,781.		
ď	8	Net short-term capital gain		, , , , , , , , , , , , , , , , , , ,	D=0=:	
3	9	Income modifications			RECEIVED	
CHINING S. S. Hevenue	10a	Gross sales less returns and allowances				70
	b	Less Cost of goods sold		90	MAR 3 0 2015	
ďďδ		Gross profit or (loss)				
	11	Other income	662,055.	636,148.	Stanishi Lit	1 2
<u>=</u>	12	Total. Add lines 1 through 11	0.	036,14.8 <u>~</u> 0.		0.
	13 14	Compensation of officers, directors, trustees, etc Other employee salaries and wages	0.	0.		<u> </u>
2015 *		Pension plans, employee benefits				
ő	160	Legal fees STMT 2	117.	0.		117.
ĕ	b	Accounting fees STMT 3	3,500.	250.		117. 3,250.
Operating and Administrative Expens	c	Other professional fees STMT 4	25,003.	25,003.		0.
<u>i</u>	17	Interest				
trat	18	Taxes STMT 5	9,288.	978.		5.
inis	19	Depreciation and depletion				
퉏	20	Occupancy				
Þ	21	Travel, conferences, and meetings				
gar	22	Printing and publications Other expenses				
ţ	24	Total operating and administrative			-	
Sera	-'	expenses. Add lines 13 through 23	37,908.	26,231.		3,372.
Õ	25	Contributions, gifts, grants paid	270,000.			270,000.
	26	Total expenses and disbursements.				
		Add lines 24 and 25	307,908.	26,231.		273,372.
	27	Subtract line 26 from line 12:				
		Excess of revenue over expenses and disbursements	354,147.	600 015		
	ļ	Net investment income (if negative, enter -0-)		609,917.		
4235		Adjusted net income (if negative, enter -0-)			N/A	

11-24-14 LHA For Paperwork Reduction Act Notice, see instructions.

Part II   Balance Sheets	33.
1 Cash - non-interest-bearing   123,233. 123,2     2 Savings and temporary cash investments   246,585.     3 Accounts receivable   Less: allowance for doubtful accounts   4 Pledges receivable   Less: allowance for doubtful accounts   5 Grants receivable   Less: allowance for doubtful accounts   5 Grants receivable   6 Receivables due from officers, directors, trustees, and other disqualified persons   7 Other notes and basis receivable   Less: allowance for doubtful accounts   8 mentioners for sale or use   9 Prepaid expenses and deferred charges   10 Investments - U.S. and state government obligations STMT   6   426,294.   505,505.   522,0     3 Investments - corporate bonds   STMT   7   3,389,227.   3,805,752.   4,062,9     10 Investments - corporate bonds   STMT   8   1,015,512.   888,072.   878,5     11 tivestments - indicate deprecation   12 Investments - other   STMT   9   0.   106,000.   108,2     12 Investments - other   STMT   9   0.   106,000.   108,2     13 Investments - other   STMT   9   0.   1,748.   4,228.   4,2     14 Land, buildings, and equipment: basis   STMT   10   1,748.   4,228.   4,2     15 Other assets (describe   STATEMENT   10)   1,748.   4,228.   4,2     16 Total assets (to be completed by all filers - see the instructions, Also, see page 1, tem I)   5,079,366.   5,432,790.   5,699,2     17 Accounts payable and accrued expenses   18 Grants payable   19 Deferred revenue   20 Leans from officers, bustees, and other disqualified persons   21 Mortgages and other notes payable   21 Mortgages and other notes payable   22 Mortgages and other notes payable   23 Mortgages and other notes payable   24 Mortgages and other notes payable   25 Mortgages and other notes payable   27 Mortgage	33.
2 Savings and temporary cash investments 3 Accounts receivable Less: allowance for doubtful accounts Less: a	
3 Accounts receivable ► Less: allowance for doubtful accounts ► 4 Pledges receivable ► Less: allowance for doubtful accounts ► 5 Grants receivable 6 Receivables due from officers, directors, trustees, and other disqualified persons 7 Other notes and loans retweable Less: allowance for doubtful accounts ► 10a Investments of sale or use 9 Prepard expenses and deferred charges 10a Investments - U.S. and state government obligations STMT 6 b investments - Corporate stock STMT 7 c Investments - corporate stock STMT 8 11 investments - corporate bonds STMT 8 11 investments - corporate bonds STMT 8 11 investments - and, buildings, and eteupment basis Less accumulated deprecation 12 investments - other STMT 9 14 Land, buildings, and equipment: basis ► Less accumulated deprecation 15 Other assets (describe ► STATEMENT 10) 16 Total assets (to be completed by all filers - see the instructions. Also, see page 1, item i) 17 Accounts payable and accrued expenses 18 Grants payable 19 Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable	——————————————————————————————————————
Less: allowance for doubtful accounts   4 Pledges receivable  Less: allowance for doubtful accounts   5 Grants receivable 6 Receivables due from officers, directors, trustees, and other disqualified persons 7 Other notes and loans receivable Less: allowance for doubtful accounts   8 Inventories for sale or use 10a Investments - U.S. and state government obligations STMT 6	——————————————————————————————————————
4 Pledges receivable ► Less: allowance for doubtful accounts ► 5 Grants receivable 6 Receivables due from officers, directors, trustees, and other disqualified persons 7 Other notes and toans receivable Less: allowance for doubtful accounts ► 8 Inventiones for sale or use 9 Prepard expenses and deferred charges 10a Investments - U.S. and state government obligations STMT 6 426,294. 505,505. 522,0 b Investments - corporate stock STMT 7 3,389,227. 3,805,752. 4,062,9 c Investments - corporate bonds STMT 8 1,015,512. 888,072. 878,5  11 Investments - iand, buildings, and equipment basis Less accumulated depreciation 12 Investments - ordrage loans 13 Investments - ordrage loans 14 Land, buildings, and equipment basis ► Less accumulated depreciation 15 Other assets (describe ► STATEMENT 10) 16 Total assets (to be completed by all filers - see the instructions, Also, see page 1, item I) 17 Accounts payable and accrued expenses 18 Grants payable 20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable	— — — — •
Less: allowance for doubtful accounts    5   Grants receivable    6   Receivables due from officers, directors, trustees, and other disqualfiled persons    7   Other notes and loans receivable   Less: allowance for doubtful accounts    8   Inventories for sale or use    9   Prepaid expenses and deferred charges   10a Investments - U.S. and state government obligations   STMT	
5 Grants receivable 6 Receivables due from officers, directors, trustees, and other disqualified persons 7 Other notes and loans receivable Less: allowance for doubtful accounts  8 Inventories for sale or use 9 Prepard expenses and deferred charges 10a Investments - Corporate stock STMT 6 b Investments - corporate stock STMT 7 3,389,227 3,805,752 4,062,9 c Investments - corporate bonds STMT 8 1,015,512 888,072 878,5  11 Investments - corporate bonds STMT 9 0. 106,000. 108,2  12 Investments - other STATEMENT 10) 1,748 4,228 4,228 14 Lānd, buildings, and equipment basis Less accumulated deprecation STATEMENT 10) 1,748 4,228 4,228 15 Other assets (describe STATEMENT 10) 5,079,366 5,432,790 5,699,2  17 Accounts payable and accrued expenses 18 Grants payable 19 Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable	
6 Recervables due from officers, directors, trustees, and other disqualified persons 7 Other notes and beas receivable Less: allowance for doubtful accounts Less: allowance for doubtful accounts line inventories for sale or use 9 Prepard expenses and deferred charges 10a Investments - U.S. and state government obligations STMT 6 426,294. 505,505. 522,0 b Investments - corporate stock STMT 7 3,389,227. 3,805,752. 4,062,9 c Investments - corporate bonds STMT 8 1,015,512. 888,072. 878,5 tinvestments - and, buildings, and equipment basis Less accumulated depreciation les accumulates accumulated less	— — •— •••••••••••••••••••••••••••••••
disqualified persons 7 Other notes and loans receivable Less: allowance for doubtful accounts   8 Inventories for sale or use 9 Prepaid expenses and deferred charges 10a Investments - U.S. and state government obligations STMT 6 b Investments - corporate stock STMT 7 3,389,227. 3,805,752. 4,062.99. c Investments - corporate bonds STMT 8 1,015,512. 888,072. 878,5  11 Investments - inortgage loans 12 Investments - inortgage loans 13 Investments - other STMT 9 0. 106,000. 108,2  14 Länd, buildings, and equipment basis Less accumulated deprecation Less accumulated deprecation STMT 9 1,748. 4,228. 4,2  15 Other assets (describe STATEMENT 10) 1,748. 4,228. 4,2  16 Total assets (to be completed by all filers - see the instructions, Also, see page 1, item I) 5,079,366. 5,432,790. 5,699,2  17 Accounts payable and accrued expenses 18 Grants payable and accrued expenses 19 Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable 22 Mortgages and other notes payable	— — <del>)</del> 1.
7 Other notes and loans receivable Less: allowance for doubtful accounts ▶  8 Inventories for sale or use 9 Prepaid expenses and deferred charges 10a Investments - U.S. and state government obligations STMT 6 b Investments - corporate stock STMT 7 3,389,227 3,805,752 4,062,9 c Investments - corporate bonds STMT 8 1,015,512 888,072 878,5  11 Investments - ind, buildings, and equipment basis Less accumulated depreciation 12 Investments - other STMT 9 10 Investments - other STMT 9 11 Land, buildings, and equipment: basis ▶ Less accumulated depreciation 15 Other assets (describe ▶ STATEMENT 10) 16 Total assets (to be completed by all filers - see the instructions. Also, see page 1, item i) 17 Accounts payable and accrued expenses 18 Grants payable 19 Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable 32 Mortgages and other notes payable	— — )1.
Less: allowance for doubtful accounts   8 Inventories for sale or use  9 Prepaid expenses and deferred charges  10a Investments - U.S. and state government obligations STMT 6  b Investments - corporate stock STMT 7  c Investments - corporate bonds STMT 8  11 Investments - isand, buildings, and equipment basis Less accumulated depreciation  12 Investments - other STMT 9  14 Land, buildings, and equipment basis Less accumulated depreciation  15 Other assets (describe STATEMENT 10)  16 Total assets (to be completed by all filers - see the instructions. Also, see page 1, item I)  17 Accounts payable and accrued expenses  18 Grants payable  19 Deferred revenue  20 Loans from officers, directors, trustees, and other disqualified persons  Mortgages and other notes payable	
8 Inventories for sale or use 9 Prepaid expenses and deferred charges 10a Investments - U.S. and state government obligations STMT 6 b Investments - corporate stock STMT 7 3,389,227 3,805,752 4,062,9 c Investments - corporate bonds STMT 8 1,015,512 888,072 878,5  11 Investments - land, buildings, and equipment basis Less accumulated depreciation 12 Investments - other STMT 9 0. 1.06,000 1.08,2  14 Land, buildings, and equipment: basis Less accumulated depreciation 15 Other assets (describe STATEMENT 10) 1,748 4,228 4,22  16 Total assets (to be completed by all fillers - see the instructions, Also, see page 1, tem 1) 5,079,366 5,432,790 5,699,2  17 Accounts payable and accrued expenses 18 Grants payable 19 Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons Mortgages and other notes payable	)1.
9 Prepaid expenses and deferred charges 10a Investments - U.S. and state government obligations STMT 6 b Investments - corporate stock c Investments - corporate bonds STMT 7 3,389,227. 3,805,752. 4,062,9 c Investments - corporate bonds STMT 8 1,015,512. 888,072. 878,5  11 Investments - iand, buildings, and equipment basis Less accumulated depreciation 12 Investments - other STMT 9 0. 106,000. 108,2  14 Lānd, buildings, and equipment: basis Less accumulated depreciation 15 Other assets (describe STATEMENT 10) 16 Total assets (to be completed by all filers - see the instructions. Also, see page 1, item I)  17 Accounts payable and accrued expenses 18 Grants payable 19 Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable	<del></del>
b Investments - corporate stock STMT 7 3,389,227 3,805,752 4,062,9 c Investments - corporate bonds STMT 8 1,015,512 888,072 878,5  11 Investments - corporate bonds STMT 8 1,015,512 888,072 878,5  12 Investments - mortgage loans 13 Investments - other STMT 9 0. 106,000 108,2  14 Land, buildings, and equipment basis less accumulated deprecation  15 Other assets (describe STATEMENT 10) 1,748 4,228 4,228 4,2  16 Total assets (to be completed by all filers - see the instructions. Also, see page 1, item I) 5,079,366 5,432,790 5,699,2  17 Accounts payable and accrued expenses 18 Grants payable Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable	71.
b Investments - corporate stock c Investments - corporate bonds STMT 8  1,015,512.  11 Investments - land, buildings, and equipment basis Less accumulated depreciation  12 Investments - other STMT 9  1. Investments - other STMT 9  3,389,227. 3,805,752. 4,062,9 878,5  1. Investments - land, buildings, and equipment basis Less accumulated depreciation  12 Investments - other STMT 9  13 Investments - other STMT 9  14 Land, buildings, and equipment: basis Less accumulated depreciation  15 Other assets (describe STATEMENT 10)  16 Total assets (to be completed by all fillers - see the instructions. Also, see page 1, item I)  17 Accounts payable and accrued expenses  18 Grants payable Deferred revenue  20 Loans from officers, directors, trustees, and other disqualified persons  18 Mortgages and other notes payable  Mortgages and other notes payable	<i>,</i>
c Investments - corporate bonds  11 Investments - land, buildings, and equipment basis  Less accumulated depreciation  12 Investments - mortgage loans  13 Investments - other  14 Land, buildings, and equipment basis  Less accumulated depreciation  15 Other assets (describe STATEMENT 10)  16 Total assets (to be completed by all filers - see the instructions. Also, see page 1, item I)  17 Accounts payable and accrued expenses  18 Grants payable  19 Deferred revenue  20 Loans from officers, directors, trustees, and other disqualified persons  Mortgages and other notes payable	
11 Investments - land, buildings, and equipment basis Less accumulated depreciation  12 Investments - mortgage loans 13 Investments - other 14 Land, buildings, and equipment: basis Less accumulated depreciation 15 Other assets (describe STATEMENT 10) 16 Total assets (to be completed by all fillers - see the instructions. Also, see page 1, item I) 17 Accounts payable and accrued expenses 18 Grants payable 19 Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons Mortgages and other notes payable	
Less accumulated depreciation  12 Investments - mortgage loans  13 Investments - other  14 Land, buildings, and equipment: basis   Less accumulated depreciation  15 Other assets (describe   STATEMENT 10)  16 Total assets (to be completed by all filers - see the instructions. Also, see page 1, item I)  17 Accounts payable and accrued expenses  18 Grants payable  19 Deferred revenue  20 Loans from officers, directors, trustees, and other disqualified persons  Mortgages and other notes payable	<del>, • •</del>
12 Investments - mortgage loans 13 Investments - other 14 Land, buildings, and equipment: basis - Less accumulated depreciation 15 Other assets (describe STATEMENT 10) 16 Total assets (to be completed by all fillers - see the instructions. Also, see page 1, item I) 17 Accounts payable and accrued expenses 18 Grants payable 19 Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable	
13 Investments - other  14 Land, buildings, and equipment: basis  15 Other assets (describe STATEMENT 10)  16 Total assets (to be completed by all filers - see the instructions. Also, see page 1, item I)  17 Accounts payable and accrued expenses  18 Grants payable  19 Deferred revenue  20 Loans from officers, directors, trustees, and other disqualified persons  21 Mortgages and other notes payable	
14 Land, buildings, and equipment: basis Less accumulated depreciation  15 Other assets (describe STATEMENT 10)  16 Total assets (to be completed by all filers - see the instructions. Also, see page 1, item I)  17 Accounts payable and accrued expenses  18 Grants payable  19 Deferred revenue  20 Loans from officers, directors, trustees, and other disqualified persons  21 Mortgages and other notes payable	11.
Less accumulated depreciation  15 Other assets (describe STATEMENT 10)  16 Total assets (to be completed by all filers - see the instructions. Also, see page 1, item I)  17 Accounts payable and accrued expenses  18 Grants payable  19 Deferred revenue  20 Loans from officers, directors, trustees, and other disqualified persons  21 Mortgages and other notes payable	
16 Total assets (to be completed by all filers - see the instructions. Also, see page 1, item I)  17 Accounts payable and accrued expenses 18 Grants payable 19 Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable	
Instructions. Also, see page 1, item I)  7 Accounts payable and accrued expenses  18 Grants payable  19 Deferred revenue  20 Loans from officers, directors, trustees, and other disqualified persons  21 Mortgages and other notes payable	28.
17 Accounts payable and accrued expenses  18 Grants payable  19 Deferred revenue  20 Loans from officers, directors, trustees, and other disqualified persons  21 Mortgages and other notes payable	
18 Grants payable 19 Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable	<u> 53.</u>
19 Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable	
20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable	
20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable 22 Other liabilities (describe STATEMENT 11) 2,877. 2,154.	
21 Mortgages and other notes payable 22 Other liabilities (describe ► STATEMENT 11) 2,877. 2,154.	
22 Other liabilities (describe STATEMENT 11) 2,877. 2,154.	
i i	
2 277	
23 Total liabilities (add lines 17 through 22) 2,877. 2,154.	
Foundations that follow SFAS 117, check here	
and complete lines 24 through 26 and lines 30 and 31.	
25 Temporarily restricted	
26 Permanently restricted	
Foundations that do not follow SFAS 117, check here	
and complete lines 27 through 31.	
27 Capital stock, trust principal, or current funds 6,763,344. 6,763,344.	
28 Paid-in or capital surplus, or land, bldg., and equipment fund	
Retained earnings, accumulated income, endowment, or other funds	
30 Total net assets or fund balances 5,076,489. 5,430,636.	
31 Total liabilities and net assets/fund balances 5,079,366. 5,432,790.	
Part III Analysis of Changes in Net Assets or Fund Balances	
1 Total net assets or fund balances at beginning of year - Part II, column (a), line 30	
(must agree with end-of-year figure reported on prior year's return) 1 5,076,4	
2 Enter amount from Part I, line 27a 2 354, 1	
3 Other increases not included in line 2 (itemize) ▶	0.
4 Add lines 1, 2, and 3 5, 430, 6	
5 Decreases not included in line 2 (itemize) > 5	36.
6 Total net assets or fund balances at end of year (line 4 minus line 5) - Part II, column (b), line 30 6 5, 430, 6	36.

orm 990-PF (2014) MAU	REEN AND PAUL RU	BELI FO	<u>DUNDATIO</u>	<u>N :</u>	INC	20	<u> 3-5935</u>	203	Page 3
<del></del>	and Losses for Tax on Ir		Income	14633			<del></del>		
	tibe the kind(s) of property sold (e.g rehouse; or common stock, 200 sh			(0)	low acquired - Purchase	(c) Date a (mo., da	.cquired	(d) Dat (mo., da	
<del></del>	<del></del>	S. IVILO CO.)		D	- Donation		9, 31./		
1a PUBLICLY TRADED b CHARLES SCHWAB		CT CTT	PT EMENT						
c CAPITAL GAINS		CI DEL.	LHEMENI						
d	DIVIDUNDO								
е	<del></del>							<del></del>	
(e) Gross sales price	(f) Depreciation allowed (or allowable)		t or other basis xpense of sale				un or (loss) (f) minus (g	1)	
a 2,890,628.			2,516,08	6.				374	,542.
ь 54.									<u>54.</u>
c 124,185.								124	<u>,185.</u>
<u>d</u>			<del>_</del>		<del></del>	<del></del>			
Complete only for assets showing	ig gain in column (h) and owned by	the foundation	on 12/31/69			I) Gaine (Co	ol. (h) gaın n	ninue	
(i) F.M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Exc	cess of col. (1)		CC	il. (k), but n	ot less than (from col. (h	-0-) or	
								374	,542.
<u> </u>	<del></del>	-						<u> </u>	54.
C				Ť				124	,185.
d									
<u>e</u>								-	
2 Capital gain net income or (net ca	apital loss) {   If gain, also ente   If (loss), enter -0	r in Part I, line î )- in Part I, line	7 7	}	2			498	,781.
3 Net short-term capital gain or (los	`			<b>.</b> [					-
If gain, also enter in Part I, line 8,		(-)-		]	ļ				
If (loss), enter -0- in Part I, line 8	4040(3)	<u> </u>	<del></del>	لب	3		N/A		
	Inder Section 4940(e) for					come		_	
(For optional use by domestic private	e foundations subject to the section	4940(a) tax on	net investment ir	come	e.)				
If section 4940(d)(2) applies, leave ti	his part blank.								
Was the foundation liable for the sec	tion 4042 tay on the distributable ar	nount of any ve	ear in the bace on	rıod?			1	□ vac	X No
If "Yes," the foundation does not qual		, ,	•	ilou,				163	LAJ NO
	each column for each year; see the			ntries					
(a) Base period years	(b)			(c)	<u> </u>		Dietribi	( <b>d)</b> ition ratio	
Calendar year (or tax year beginni	ng in) Adjusted qualifying di	stributions	Net value of no	ncha	ritable-use asset	s (	(col. (b) divid	ded by col.	(c))
2013		36,061.			,503,81				42890
2012		23,811.			,063,72				<u>44199</u>
2011		12,637.			,111,44				<u>47469</u>
2010		21,692.			<u>,847,43</u>				<u>45734</u>
		36,324.	<del></del>	4	<u>,358,91</u>	<u> </u>		. 0	<u>54216</u>
2 Total of line 1, column (d)						2		.2	<u>34508</u>
3 Average distribution ratio for the the foundation has been in existe	•	on line 2 by 5,	or by the number	ot ye	ars	3		.0	46902
4 Enter the net value of noncharitat	ple-use assets for 2014 from Part X	, line 5				4_		5,697	<u>,768.</u>
5 Multiply line 4 by line 3						5		267	,237.
6 Enter 1% of net investment incor	me (1% of Part I, line 27b)					6		6	,099.
7 Add lines 5 and 6						7		273	,33 <u>6</u> .
8 Enter qualifying distributions from	m Part XII, line 4					8		273	,372.
	n line 7, check the box ın Part VI, lın	e 1b, and comp	olete that part usi	ng a 1	% tax rate.				
						_		000	DE

Part VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - see ins  1a Exempt operating foundations described in section 4940(d)(2), check here  under "N/A" on line 1.	truct	ions)
1a Exempt operating foundations described in section 4940(d)(2), check here ► and enter "N/A" on line 1.		
Date of ruling or determination letter: (attach copy of letter if necessary-see instructions)		
b Domestic foundations that meet the section 4940(e) requirements in Part V, check here 🕨 🗶 and enter 1%	<u>6</u> ,	<u>.099.</u>
of Part I, line 27b		
c All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).		_
2 Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		0.
3 Add lines 1 and 2	6_	099.
4 Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		0.
5 Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-	6_,	099.
6 Credits/Payments:		
a 2014 estimated tax payments and 2013 overpayment credited to 2014  6a 5,600.		
b Exempt foreign organizations - tax withheld at source  6b		
c Tax paid with application for extension of time to file (Form 8868)		
d Backup withholding erroneously withheld  7. This level does not approach Add leas Co through Cd	_	600
7 Total credits and payments. Add lines 6a through 6d		<u>,600.</u>
8 Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached 8		499.
9 Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed  10 Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid		433.
11   Enter the amount of line 10 to be: Credited to 2015 estimated tax		
1a During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in	Y	es No
	la	X
	<u>ів</u> —	X
If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or		<del></del>
distributed by the foundation in connection with the activities		
	lc	x
d Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:	-	<del></del>
(1) On the foundation. ► \$ 0. (2) On foundation managers. ► \$ 0.		
e Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation		
managers. ▶ \$ 0.		
2 Has the foundation engaged in any activities that have not previously been reported to the IRS?	2	x
If "Yes," attach a detailed description of the activities.		
3 Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or		
bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3	X
the contraction of the contracti	ta	X
b If "Yes," has it filed a tax return on Form 990-T for this year? N/A	\$b	
5 Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5	X
If "Yes," attach the statement required by General Instruction T.		
6 Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:		
By language in the governing instrument, or		
By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law		_
		<u>K</u>
7 Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV	7   2	K
8a Enter the states to which the foundation reports or with which it is registered (see instructions)		
AZ		
b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)	, ,	ا س
	8b   2	X
9 Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar year 2014 or the taxable year beginning in 2014 (see instructions for Part XIV)? If "Yes," complete Part XIV	9	v
	10	$\frac{\mathbf{x}}{\mathbf{x}}$
		PF (2014)

423531

	990-PF (20	14) <b>M</b> Z	UREEN	AND	PAUL	RUBELI	FOUNDATION	INC	2	0-5935	203	ı	Page 5
Pa	rt VII-A	Statemen	ts Regard	ling Ac	tivities	(continued)							
11	At any time	during the year,	did the found	ation, dire	ectly or ind	rectly, own a co	ontrolled entity within the	e meaning of					
	section 512	?(b)(13)? If "Yes,	" attach sched	lule (see i	nstructions	;)					11		X
12	Did the four	ndation make a d	distribution to	a donor a	dvised fun	d over which the	e foundation or a disqua	lified person had	advisory privi	leges?			
	If "Yes," atta	ach statement (s	ee instructions	s)							12		<u>X</u>
13				inspection	on requiren	nents for its ann	ual returns and exempte	on application?			13	X	
		dress 🕨 <u>N</u>							<del></del> .				
14		are in care of							hone no.				
		► <u>7098</u> I						SDALE,	<b>AZ</b> Z	IP+4 ▶ <u>85</u>	253		
15					_		Form 1041 - Check here	1				▶	Ш
		ne amount of tax							. ▶∟	15	N	/A	NI -
16						e an interest in	or a signature or other a	authority over a b	ank,		۱	Yes	No
		or other financia				- F OFN F 4	44 //	NO 43 16 10 4 - 1 1		¢ 41	16	H	<u>X</u>
			eptions and iii	ing requi	rements to	FINGEN FORM 1	14, (formerly TD F 90-2	2.1). If "Yes," ent	er the name o	r tne		I	
Pa	foreign cou		ts Regard	ling Ad	tivities	for Which	Form 4720 May	Be Require					
-							s an exception appli	<u> </u>				Yes	No
1a		year did the four					э ин схосрион арри	.03.					
	=	e in the sale or e			-	•	person?		Yes	X No			
		v money from, le				•	•						
		ualified person?				•	,		Yes	X No			
	(3) Furnisl	h goods, service	s, or facilities	to (or acc	ept them fr	om) a disqualifi	ed person?		Yes	X No			
	(4) Pay co	mpensation to,	or pay or reim	burse the	expenses-	of, a disqualified	l_person?_		Yes	X No			
	(5) Transf	er any income of	r assets to a d	isqualified	d person (o	r make any of e	ither available					-	
	for the	benefit or use o	f a disqualified	l person)	?				Yes	X No			
		to pay money or		_		•							
		oundation agree					period after						
		ation of governn						_	Yes	X No			
b							exceptions described in	Regulations		/-			
		4941(d)-3 or in				•	•			N/A	1b		
_		ins relying on a c						4h-4					
C		first day of the ta				escribed in Ta, o	ther than excepted acts,	that were not co	rrected		4.		v
9		•		•		t annly for years	the foundation was a p	rwata anaratina f	oundation		1c		_X_
_		section 4942(j)(3			.) (4003 110	t apply for years	s the loundation was a pi	invate operating i	oundation				
а					e anv undi	stributed incomi	e (lines 6d and 6e, Part )	XIII) for tax vear(	s) heamaina				
	before 201		,		,		o (	ring for tan your		X No			
	If "Yes," list	the years >				,	,						
b							rovisions of section 494		to incorrect		}		
							1942(a)(2) to <b>all</b> years lis						
	statement -	see instructions	s.)							N/A	2b		
C	If the provi	sions of section	4942(a)(2) are	e being aj	oplied to <b>ar</b>	y of the years li	sted in 2a, list the years	here.					
	▶		_,		<u> </u>		,						
За			re than a 2%	direct or i	ndirect inte	rest in any busi	ness enterprise at any ti	me					
	during the	=		_						X No			
b				-			rchase by the foundatio						
							by the Commissioner un			ose			
							-year first phase holding	period'? (Use S	chedule C,	NT / 3	<b> </b>		
4		0, to determine					•			N/A	3b		
				-			jeopardize its charitable	• •	hla auraas 4	t	4a	$\vdash$	<u>X</u>
		ndation make ar en removed fron	-				31, 1969) that could jeop	Dai Uize ils chafita	nie barbose ((	iat	46		v
	ilaa not be	on romovou ii on	ii joopaluy Dei	0.0 010 11	or duy or ti	io iun your begil	1111 Y 11 EV 17:	——————————————————————————————————————		Fo	<u>  4b</u> rm <b>99</b> (	)_PF	<u>X</u>
										FU			(2014)

orm 990-PF (2014) MAUREEN AND PAUL RUBELI			20-59352	03 Page 6
Part VII-B   Statements Regarding Activities for Which F	orm 4720 May Be	Required (contin	ued)	
5a During the year did the foundation pay or incur any amount to:				
(1) Carry on propaganda, or otherwise attempt to influence legislation (section	ı 4945(e))?	Y	es 🗶 No	
(2) Influence the outcome of any specific public election (see section 4955); o	r to carry on, directly or inc	firectly,		
any voter registration drive?		Y	es 🗶 No	
(3) Provide a grant to an individual for travel, study, or other similar purposes'	7		es 🗶 No	
(4) Provide a grant to an organization other than a charitable, etc., organization				
4945(d)(4)(A)? (see instructions)		Y	es X No	
(5) Provide for any purpose other than religious, charitable, scientific, literary,	or educational purposes, o			
the prevention of cruelty to children or animals?	, , , , , , , , , , , , , , , , , , , ,		es 🗶 No	
b If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify und	ler the exceptions describe			
section 53.4945 or in a current notice regarding disaster assistance (see instru		<b></b>	N/A	5b
Organizations relying on a current notice regarding disaster assistance check h	· · · · · · · · · · · · · · · · · · ·			
c If the answer is "Yes" to question 5a(4), does the foundation claim exemption fr		tained		
expenditure responsibility for the grant?			es 🔲 No	1
If "Yes," attach the statement required by Regulations section 53.4945			~	
6a Did the foundation, during the year, receive any funds, directly or indirectly, to j	• •			
a personal benefit contract?	ay promiumo on		es X No	1 [
b Did the foundation, during the year, pay premiums, directly or indirectly, on a p	ersonal henefit contract?			6b X
If "Yes" to 6b, file Form 8870	orgonal benefit contract.		<u> </u>	- X
7a At any time during the tax year, was the foundation a party to a prohibited tax s	holter transaction?		es X No	
b If "Yes," did the foundation receive any proceeds or have any net income attribu				7b
Part VIII Information About Officers, Directors, Trusto		lanagers Highly	<del></del>	
Paid Employees, and Contractors	ses, i odiladion iv	ianagers, mgm	<b>y</b>	<del></del> •
List all officers, directors, trustees, foundation managers and their	compensation.			
, , , ,		(c) Compensation	(d) Contributions to	(e) Expense
(a) Name and address	(b) Title, and average hours per week devoted to position	(If not paid,	(d) Contributions to employee benefit plans and deferred	account, other allowances
MAUREEN M. RUBELI	PRESIDENT	enter -0-)	compensation	allowalices
C/O HENRY & HORNE, LLP 7098 E COCHISE	LVESIDENI			
SCOTTSDALE, AZ 85253	5.00	0.	0.	0.
	VICE PRESIDE			
C/O HENRY & HORNE, LLP 7098 E COCHISE		MI, IKEASU	REK,	
SCOTTSDALE, AZ 85253	5.00	0.	0.	0
SCOTTSDALE, AZ 63233	3.00	0.	- 0.	0.
	I	ı		
	i 			
	·		_	<del></del>
	l			
	i			
2 Compensation of five highest-paid employees (other than those inc	luded on line 1) If non	o optor "NONE "	<u> </u>	
Compensation of five highest-paid employees (other than those inc	(b) Title, and average	e, enter NONE.	(d) Contributions to employee benefit plans	(e) Expense
(a) Name and address of each employee paid more than \$50,000	hours oer week	(c) Compensation	employee benefit plans and deferred compensation	account, other
MONTE	devoted to position		compensation	allowances
NONE	 			
		_	<del>                                     </del>	<u> </u>
	1 <b>1</b>			
			<del>                                     </del>	
			<b></b>	
		_1	ــــــــــــــــــــــــــــــــــــــ	
Total number of other employees paid over \$50,000				0
			Form	<b>990-PF</b> (2014)

423551 11-24-14

Form 990-PF (2014) MAUREEN AND PAUL RUBELI FOUNDATION INC 20	0-5935	203 Page 7
Part VIII Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Employees, and Contractors (continued)		
3 Five highest-paid independent contractors for professional services. If none, enter "NONE."		
(a) Name and address of each person paid more than \$50,000 (b) Type of service		(c) Compensation
NONE		
Total number of others receiving over \$50,000 for professional services	<b>&gt;</b>	0
Part IX-A Summary of Direct Charitable Activities		
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc.		Expenses
1 N/A		
2		
3		
4		
Part IX-B   Summary of Program-Related Investments		
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2.		Amount
1 <u>N/A</u>		
2		
All other program-related investments. See instructions.  3		
Total. Add lines 1 through 3	For	0 . m <b>990-PF</b> (2014)

P	art X Minimum Investment Return (All domestic foundations must complete this part. Foreign four	ndations, :	see instructions)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:		
а	Average monthly fair market value of securities	1a	5,619,500.
b	Average of monthly cash balances	1b	5,619,500. 165,036.
C	Fair market value of all other assets	1c	
d	Total (add lines 1a, b, and c)	1d	5,784,536.
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation) 1e 0 •		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	5,784,536.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	86,768.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	5,697,768.
6	Minimum investment return. Enter 5% of line 5	6	284,888.
Р	Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and foreign organizations check here and do not complete this part.)	d certain	
1	Minimum investment return from Part X, line 6	1	284,888.
-	Tax on investment income for 2014 from Part VI, line 5	!	204,000.
	Income tax for 2014. (This does not include the tax from Part VI.)		
b	Add lines 2a and 2b	2c	6,099.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	278,789.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	278,789.
6	Deduction from distributable amount (see instructions)	6	0.
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7	278,789.
P	Qualifying Distributions (see instructions)		270,703.
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
a	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a	273,372.
þ	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
а	Suitability test (prior IRS approval required)	3a	
þ	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	273,372.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
	income. Enter 1% of Part I, line 27b	5	6,099.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	267,273.
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation of	qualifies for	the section

Form **990-PF** (2014)

4940(e) reduction of tax in those years.

Part XIII Undistributed Income (sée instructions)

	(a) Corpus	(b) Years prior to 2013	(c) 2013	(d) 2014
1 Distributable amount for 2014 from Part XI.			_	
line 7				278,789.
2 Undistributed income, if any, as of the end of 2014	-			
a Enter amount for 2013 only			266,199.	
b Total for prior years:	<del></del>			
• Total to proof grants		0.		
3 Excess distributions carryover, if any, to 2014:	<u>.</u>			
a From 2009				
<b>b</b> From 2010				
c From 2011				
d From 2012				
e From 2013				
f Total of lines 3a through e	0.			
4 Qualifying distributions for 2014 from				
Part XII, line 4: ►\$ 273,372.				
a Applied to 2013, but not more than line 2a			266,199.	
	-		200,100.	
b Applied to undistributed income of prior		0.		
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus	0.			
(Election required - see instructions)	U •			7,173.
d Applied to 2014 distributable amount				1,1/3.
e Remaining amount distributed out of corpus	0.			
Excess distributions carryover applied to 2014  (If an amount appears in column (d), the same amount must be shown in column (a))	0.			0.
6 Enter the net total of each column as indicated below:				
2 Corpus Add lines 3f, 4c, and 4e Subtract line 5	0.			
b Prior years' undistributed income. Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years'	· · · · · · · · · · · · · · · · · · ·			
undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b. Taxable				
amount - see instructions		0.		
e Undistributed income for 2013. Subtract line				
4a from line 2a. Taxable amount - see instr.			0.	
f Undistributed income for 2014. Subtract			0.	
lines 4d and 5 from line 1. This amount must				
be distributed in 2015				271,616.
7 Amounts treated as distributions out of				2/1,010.
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3) (Election	0.			
may be required - see instructions)				
8 Excess distributions carryover from 2009	0.			
not applied on line 5 or line 7	<u> </u>			
9 Excess distributions carryover to 2015.	0.			
Subtract lines 7 and 8 from line 6a				
10 Analysis of line 9:				
a Excess from 2010				
b Excess from 2011				
c Excess from 2012				
d Excess from 2013				
e Excess from 2014 423581		L	1	Form <b>990-PF</b> (2014)

Part XIV   Private Operating Fo	AND PAUL R			20-59 N/A	35203 Page 10
1 a If the foundation has received a ruling or			77, quostion 5)	N/A	
foundation, and the ruling is effective for					
b Check box to indicate whether the found			in section	4942(j)(3) or 49	942(j)(5)
2 a Enter the lesser of the adjusted net	Tax year	Touridation addeniada	Prior 3 years	<u></u>	
income from Part I or the minimum	(a) 2014	(b) 2013	(c) 2012	(d) 2011	(e) Total
investment return from Part X for					· · · · · · · · · · · · · · · · · · ·
each year listed					
<b>b</b> 85% of line 2a					
c Qualifying distributions from Part XII,					
line 4 for each year listed					
d Amounts included in line 2c not					
used directly for active conduct of					
exempt activities					
e Qualifying distributions made directly					
for active conduct of exempt activities.					
Subtract line 2d from line 2c 3 Complete 3a, b, or c for the			1	<del>                                     </del>	
alternative test relied upon:					
<ul><li>a "Assets" alternative test - enter:</li><li>(1) Value of all assets</li></ul>					
(2) Value of assets qualifying under section 4942(j)(3)(B)(i)					
b "Endowment" alternative test - enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed					
c "Support" alternative test - enter:					
(1) Total support other than gross investment income (interest,					
dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)					
(2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)					
(3) Largest amount of support from					
an exempt organization					
(4) Gross investment income					
Part XV Supplementary Info at any time during t			if the foundation	n had \$5,000 or m	ore in assets
1 Information Regarding Foundatio	n Managers:				
a List any managers of the foundation who year (but only if they have contributed m	o have contributed more		tributions received by the	e foundation before the clo	se of any tax
NONE	, ,	,			
b List any managers of the foundation who other entity) of which the foundation has			(or an equally large port	ion of the ownership of a p	artnership or
NONE	a 1079 or greater filtere				
2 Information Regarding Contributi Check here ► X if the foundation o				not accept unsolicited requ	iests for funds. If
the foundation makes gifts, grants, etc.	•	•	•	•	
a The name, address, and telephone num	ber or e-mail address of t	the person to whom app	lications should be addre	essed:	
—, <u> </u>					
b The form in which applications should b	e submitted and informa	tion and materials they s	hould include:		
c Any submission deadlines:					
d Any restrictions or limitations on awards	s, such as by geographic	al areas, charitable fields	, kınds of ınstitutions, or	other factors:	<del></del>

2 Granto and Contributions Raid During the 2			I	
3 Grants and Contributions Paid During the Y		Payment	1	<del></del>
Name and address (home or business)	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	Amount
	or substantial contributor	recipient		<del></del>
a Paid during the year				
ALEXANDER DAWSON SCHOOL	NONE	PUBLIC CHARITY	CHILDREN'S PROGRAMS	
10845 W. DESERT INN RD.				
LAS VEGAS, NV 89135				5,000.
APPALACHIAN MOUNTAIN CLUB	NONE	PUBLIC CHARITY	ENVIRONMENTAL PROGRAMS	
FIVE JOY STREET				
BOSTON, MA 02108				5,000.
ARCHBISHOP STEPINAC HIGH SCHOOL	NONE	PUBLIC CHARITY	SCHOOL PROGRAMS	
950 MAMARONECK AVENUE				
WHITE PLAINS, NY 10605				50,000.
ARCHWAY CICERO SCHOOL	NONE	PUBLIC CHARITY	SCHOOL PROGRAMS	
7205 NORTH PIMA ROAD				
SCOTTSDALE, AZ 85261				3,000.
BOYS & GIRLS CLUBS OF GREATER SCOTTSDALE 10515 E LAKEVIEW DRIVE	NONE	PUBLIC CHARITY	CHILDREN'S PROGRAMS	
SCOTTSDALE, AZ 85258				45 000.
	NTINUATION SHEE	ET(S)	<b>&gt;</b> 3a	270 000
b Approved for future payment  NONE				
Total			► 3b	0,

423611 11-24-14

#### Part XVI-A **Analysis of Income-Producing Activities**

Enter gross amounts unless otherwise indicated.	Unrelate	Unrelated business income		ed by section 512, 513, or 514	(e)	
1 Program service revenue:	(a) Business code	(b) Amount	Exclu- sion code	(d) Amount	Related or exempt function income	
	Code		1000			
a b						
· · · · · · · · · · · · · · · · · · ·						
c						
d						
e			<del>                                     </del>			
g Fees and contracts from government agencies						
2 Membership dues and assessments	<u> </u>					
3 Interest on savings and temporary cash			<del>    -</del>			
investments			•			
Dividends and interest from securities			14	163,274.		
5 Net rental income or (loss) from real estate:	<u> </u>		7.4	103,274.	··	
a Debt-financed property			1		<del></del>	
b Not debt-financed property			<del>  </del>			
6 Net rental income or (loss) from personal			<del>                                     </del>		<del></del>	
property 7 Other investment income			1 1			
8 Gain or (loss) from sales of assets other						
than inventory			18	498,781.		
9 Net income or (loss) from special events			1-10	470,701.		
10 Gross profit or (loss) from sales of inventory	-					
11 Other revenue:						
a b			+ +		<del></del>	
* *************************************	·		<del>   </del>	·		
c			<del>  </del>			
d						
12 Subtotal. Add columns (b), (d), and (e)		0.	+ +	662,055.	0.	
13 Total. Add line 12, columns (b), (d), and (e)	<u> </u>	<u> </u>	1 1	13		
(See worksheet in line 13 instructions to verify calculation	no \			13	002,055.	
Part XVI-B Relationship of Activiti	es to the Acc	omplishment of Ex	kempt	Purposes		
Line No Explain below how each activity for which	noome is reported	un column (a) of Part V/I-	contribi	uted importantly to the accomi	nlichment of	
the foundation's exempt purposes (other			COILLIDE	ated importantly to the accomp	Justinient of	
ALL SUPPORT EXEMPT PURPO						
DOLLOKI EMEMI I TOKIC						
					_	
					_	
	<del></del>				· · · · · · · · · · · · · · · · · · ·	

423621 11-24-14

	XVII Information R Exempt Organ		ers to and transactions a	nd Relationships With None	cnaritable	,
1 Di	d the organization directly or inc	firectly engage in any of t	he following with any other organizatio	n described in section 501(c) of		Yes No
			section 527, relating to political organi			
a Tra	ansfers from the reporting foun	dation to a noncharitable	exempt organization of:			
(1)	) Cash				1a(1)	X
(2	) Other assets				1a(2)	X
<b>b</b> Ot	her transactions:					
(1)	) Sales of assets to a nonchard	able exempt organization	1		1b(1)	X
(2	) Purchases of assets from a n	oncharitable exempt orga	anization		1b(2)	X
(3)	) Rental of facilities, equipment	, or other assets			1b(3)	X
(4	) Reimbursement arrangement	S			1b(4)	X
•	) Loans or loan guarantees				1b(5)	X
•	) Performance of services or m	·			1b(6)	X
	naring of facilities, equipment, m			vays show the fair market value of the go	1c	<u> </u>
	olumn (d) the value of the goods	, other assets, or services		e in any transaction or sharing arrangem  (d) Description of transfers, transactions		rangemente
(a) Line	(b) Amount involved	- (c) Name of no	N/A	(a) Description of Variaties, Parisactions	s, and snamy an	angements
			N/A			
	.=		-			
		_				
				-	<del></del>	
0. 1.	41-4			national described		
ın	section 501(c) of the Code (oth "Yes," complete the following so	er than section 501(c)(3)	ited to, one or more tax-exempt organia )) or in section 527?	zations described	Yes	X No
	(a) Name of o	rganization	(b) Type of organization	(c) Description of rela	ationship	
	N/A					

Firm's EIN ▶ 86-0133881 (480)483-1170Phone no.

Check [

self- employed

PTIN

Form **990-PF** (2014)

P00038193

Paid

**Preparer** 

**Use Only** 

Preparer's signature

& HORNE, LLP

Firm's address ▶ 7098 E. COCHISE SUITE 100

SCOTTSDALE,

CANDACE BERG TOOK

AZ 85253-4517

Signature of officer or trustee

Print/Type preparer's name

Firm's name ► **HENRY** 

CANDACE BERG TOOKE,

Title

03/23/15

Date

Part XV Supplementary Information Grants and Contributions Paid During the Year (Continuation) If recipient is an individual, Recipient show any relationship to Foundation Purpose of grant or Amount any foundation manager or substantial contributor status of contribution Name and address (home or business) recipient PUBLIC CHARITY CHILDREN'S PROGRAMS BOYS AND GIRLS CLUB OF SOUTHERN NONE NEVADA 2850 LINDELL ROAD LAS VEGAS, NE 89146 14,500. PUBLIC CHARITY CHILDREN'S PROGRAMS NONE CASA BRAZIL PO BOX 4053 SCOTTSDALE, AZ 85261 5,000. NONE PUBLIC CHARITY POOR CHILDREN'S CASA FRANCISCANA OUTREACH PROGRAMS PO BOX 15576 SCOTTSDALE AZ 85267 5,000. CHILDREN'S ROOM NONE PUBLIC CHARITY BEREAVEMENT PROGRAMS 120 MASSACHUSETTS AVE 5,000. ARLINGTON, MA 02476 COLUMBIA BUSINESS SCHOOL NONE PUBLIC CHARITY SCHOOL PROGRAMS 475 RIVERSIDE DRIVE 5,000. NEW YORK, NY 10115 PUBLIC CHARITY CHILD SHELTER PROGRAMS CRISIS NURSERY NONE 2334 E. POLK STREET PHOENIX, AZ 85006 5,000, PUBLIC CHARITY GENERAL FUND NONE DREAM BIG FOUNDATION 281 NEEDHAM STREET, SUITE 202 NEWTOWN MA 02464 5,000, PUBLIC CHARITY FOOD EDUCATION EDIBLE SCHOOLYARD NONE 1517 SHATTUCK AVENUE PROGRAMS BERKLEY CA 94709 2,500. NONE PUBLIC CHARITY SCHOOL PROGRAMS EDWARD FREDERICK SORIN SOCIETY 1100 GRACE HALL NOTRE DAME IN 46556 5,000. FRANCISCAN RENEWAL CENTER NONE PUBLIC CHARITY CHURCH PROGRAMS 5802 E LINCOLN DRIVE 30,000, PARADISE VALLEY, AZ 85253 162 000 Total from continuation sheets

3 Grants and Contributions Paid During the	ear (Continuation)			
Recipient	If recipient is an individual, show any relationship to	Foundation	Purpose of grant or	Amount
Name and address (home or business)	any foundation manager or substantial contributor	status of recipient	contribution	Amount
SENTLE BARN	NONE	PUBLIC CHARITY	SPECIAL NEEDS PROGRAMS	
5825 SIERRA HIGHWAY ANTA CLARITA, CA 91390				2,50
OOD COUNSEL ACADEMY	NONE	PUBLIC CHARITY	SCHOOL PROGRAMS	
2 NORTH BROADWAY HITE PLAINS, NY 10603				5,00
HAMMER MUSEUM 10899 WILSHIRE BLVD	NONE	PUBLIC CHARITY	NEW ARTISTS PROGRAMS	
OS ANGELES, CA 90024				7,50
HIRSCHBERG FOUNDATION FOR PANCEATIC	NONE	PUBLIC CHARITY	CANCER RESEARCH	
2990 S. SEPULVEDA BLVD., SUITE 300C LOS ANGELES, CA 90064				2,50
HOSPICE OF THE VALLEY 1510 E. FLOWER STREET	NONE	PUBLIC CHARITY	RESPITE CARE PROGRAMS	
PHOENIX, AZ 85014				5,00
HUMANAS 239 CENTRAL PARK WEST, APT 12E NEW YORK, NY 10024	NONE	PUBLIC CHARITY	POOR CHILDRENS' CHOLARSHIPS	5,00
INHERITANCE OF HOPE PO BOX 90 PISGAH FOREST, NC 28768	NONE	PUBLIC CHARITY	CHILDREN'S BEREAVEMENT	2,50
LOVELANE	NONE	PUBLIC CHARITY	SPECIAL NEEDS PROGRAMS	
10 BAKER BRIDGE ROAD LINCOLN, MA 01773				2,50
MEADOWS SCHOOL 3601 SCHOLAR LANE	NONE	PUBLIC CHARITY	CHILDREN'S PROGRAMS	2.50
AS VEGAS, NV 89128				2,50
MISSION OF MERCY 360 E. CORONADO ROAD #160	NONE	PUBLIC CHARITY	HEALTH PROGRAMS	
PHOENIX AZ 85004  Total from continuation sheets	<u> </u>		<u> </u>	5,00

3 Grants and Contributions Paid During the Y				
Recipient	If recipient is an individual, show any relationship to	Foundation	Purpose of grant or	
'Name and address (home or business)	any foundation manager or substantial contributor	status of recipient	contribution	Amount
NATHAN ADELSON HOSPICE FOUNDATION 4141 SWENSON STREET LAS VEGAS, NV 89119	NONE	PUBLIC CHARITY	RESPITE CARE PROGRAMS	5.00
PATHFINDER RANCH 35510 PATHFINDER ROAD MOUNTAIN CENTER, CA 92561	NONE	PUBLIC CHARITY	CHILDRENS' PROGRAMS	5,00
SCOTTSDALE HEALTHCARE FOUNDATION	NONE	PUBLIC CHARITY	CANCER RESEARCH	
10001 N. 92ND STREET #121 SCOTTSDALE, AZ 85258			PROGRAMS	10.00
SCOTTSDALE TRAINING & REHABILITATION SERVICES 7507 E. OSBORN ROAD	NONE	PUBLIC CHARITY	HANDICAP TRAINING PROGRAM	
SCOTTSDALE, AZ 85251				5,00
ST JOSEPH THE WORKER 1125 WEST JACKSON ST	NONE	PUBLIC CHARITY	HOMELESS JOBS PROGRAMS	
PHOENIX, AZ 85207	_			10,00
ST MARY'S FOOD BANK ALLIANCE 2831 N 31ST AVENUE	NONE	PUBLIC CHARITY	FOOD ASSISTANCE PROGRAMS	
PHOENIX, AZ 85009				5,00
				<del> </del>
				<del></del>
Total from continuation sheets				

As of 12/31/2014

Ironwood Investment Counsel, LLC Charles Schwab Account

Rubeli - Maureen & Paul Rubeli Foundation

Description	Symbol	Trade <u>Date</u>	Quantity	Unit <u>Cost</u>	Cost <u>Basis</u>	Current Value	Unrealized Gain (Loss)
Equities							
EQUITY MUTUAL FUNDS							
Janus Velocity Volatility Hdgd Lg	SPXH	01/06/2014	1,569	28.140	44,152.39	47,525.01	3,372.62
Janus Velocity Volatility Hdgd Lg		01/06/2014	2,500	28.140	70,351.17	75,725.00	5,373.83
Janus Velocity Volatility Hdgd Lg		01/06/2014	2,500	28.140	70,351.17	75,725.00	5,373.83
Janus Velocity Volatility Hdgd Lg		01/06/2014	2,000	28.140	56,280.93	60,580.00	4,299.07
Janus Velocity Volatility Hdgd Lg	SPXH	01/06/2014	2,500	28.140	70,351.17	75,725.00	5,373.83
Janus Velocity Volatility Hdgd Lg		01/06/2014	2,000	28.140	56,280.93	60,580.00	4,299.07
Janus Velocity Volatility Hdgd Lg		01/06/2014	3,040	28.150	85,577.42	92,081.60	6,504.18
Janus Velocity Volatility Hdgd Lg		01/06/2014	291	28.150	8,191.79	8,814.39	622.60
Janus Velocity Volatility Hdgd Lg	SPXH	01/06/2014	2,800	. 28.150 _	78,821.29	84,812 00	5,990.71
			19,200		540,358.26	581,568. <u>00</u>	41,2 <u>09</u> .74
PREFERRED SECURITIES							
Allstate Corp 6.75% PFD Shares	ALL+C	12/17/2013	100	25 387	2,538.69	2,695.00	156.31
Allstate Corp 6.75% PFD Shares	ALL+C	12/17/2013	200	25.387	5,077.38	5,390.00	312.62
Allstate Corp 6.75% PFD Shares	ALL+C	12/17/2013	200	25.380 _	5,075.98	5,390.00	314.02
			500		12,692.05	13,475.00	782.95
Barclays Bank 7.75% PFD Shares	BCS+C	12/17/2013	200	25.357	5,071.38	5,186.00	114.62
Barclays Bank 7.75% PFD Shares		12/17/2013	300	25.357	7,607.07	7,779.00	171.93
			500		12,678.45	12,965.00	286.55
C '. 10 F' '. 1 ( 000/ PED	COELD	00/14/2012	500	25.025	12 512 50	12 100 50	(214.00)
Capital One Financial 6.00% PFD		08/14/2012	500	25.025	12,512.50	12,198 50	(314.00)
Charles Schwab 6.00% PFD Shar	SCHW+B	07/11/2012	500	26.500	13,250.00	12,800.00	(450.00)
Deutsche Bk Cap 6.625% PFD Sh	DTTCL	12/13/2013	200	24.957	4,991.38	5,110.00	118.62
Deutsche Bk Cap 6.625% PFD Sh		12/13/2013	100	24.957	2,495.69	2,555 00	59.31
Deutsche Bk Cap 6.625% PFD Sh	DTTCL	12/13/2013	200	24.954 _	4,990.78	5,110.00	119.22
			500	_	12,477.85	12,775.00	297.15
HSBC Holdings 6.20% PFD Shar	нвс+а	12/13/2013	500	24.714	12,356.95	12,850.00	493.05
Principal Financial 6.518% PFD S	PFG+B	12/13/2013	100	24.497	2,449.69	2,563.00	113.31
Principal Financial 6.518% PFD S		12/13/2013	200	24.497	4,899.38	5,126.00	226.62
Principal Financial 6.518% PFD S		12/13/2013	200	24.497	4,899.38	5,126.00	226.62
•			500	<del>-</del>	12,248.45	12,815.00	566.55
Prudential PLC 6.75% PFD Share	PI IK+	12/13/2013	200	25.101	5,020.14	5,100.00	79.86
Prudential PLC 6.75% PFD Share		12/13/2013	200	25.107	5,020.14	5,100.00	79.60 78.62
Prudential PLC 6.75% PFD Share		12/13/2013	100	25.107	2,510.49	2,550.00	39.51
J. L. Z. S.		-2. 13.2010	500		12,552.01	12,750.00	197.99
			<b>.</b>				
Public Storage 6.50% PFD Shares		12/13/2013	100	23.838	2,383.79	2,570.00	186.21
Public Storage 6.50% PFD Shares	PSA+P	12/13/2013	300	23.908	7,172.37	7,710.00	537.63

Rubeli - Maureen & Paul Rubeli Foundation

Description	Symbol	Trade <u>Date</u>	Quantity	Unit <u>Cost</u>	Cost <u>Basis</u>	Current <u>Value</u>	Unrealized Gain (Loss)
Equities							
PREFERRED SECURITIES Public Storage 6.50% PFD Shares	PSA+P	12/13/2013	100	23.908	2,390.79	2,570.00	179.21
Tomo Storage ON CALL STANCE	. 5,	12.10,2010		25.700 _			
			500		11,946.95	12,850.00	903.05
				_	112,715.21	115,478.50	2,763.29
				-	653,073.47	697,046.50	43,973.03
Mutual Funds							
<b>EQUITY MUTUAL FUNDS</b>							
AQR Managed Futures Strategy I	AQMIX	11/13/2012	12,521.482	9.312	116,600.00	133,103.35	16,503.35
AQR Managed Futures Strategy I	AQMIX	12/14/2012	97.208	9.630	936.11	1,033.32	97.21
—AQR-Managed-Futures-Strategy-I-		12/20/2013_	——————————————————————————————————————	—10.400—	——1 <del>,</del> 213.54—	<del>1,240.38</del>	26:84
AQR Managed Futures Strategy I	-	12/20/2013	13.613	10.400	141.58	144.71	3.13
AQR Managed Futures Strategy I	-	12/19/2014	583.728	10.430	6,088.28	6,205.03	116.75
AQR Managed Futures Strategy I	AQMIX	12/19/2014	386.393	10.430	4,030.08	4,107.36	77.28
AQR Managed Futures Strategy I	AQMIX	12/19/2014	212.686	10.430	2,218.32	2,260.85	42.53
			13,931.797		131,227.91	148,095.00	16,867.09
Aston/River Road Small Cap Valu	ARSIX	04/29/2009	3,305.713	9.065	29,964.73	39,635.50	9,670.77
Aston/River Road Small Cap Valu	ARSIX	06/05/2009	3,662.538	9.784	35,832.95	43,913.83	8,080.88
Aston/River Road Small Cap Valu	ARSIX	12/29/2009	41.984	10.850	455.53	503.39	47.86
Aston/River Road Small Cap Valu	ARSIX	12/29/2010	52.497	12.820	673.01	629.44	(43.57)
Aston/River Road Small Cap Valu		12/28/2012	286.288	13.240	3,790.45	3,432.59	(357.86)
Aston/River Road Small Cap Valu		12/28/2012	172.051	13.240	2,277.95	2,062.89	(215.06)
Aston/River Road Small Cap Valu		12/30/2013	1,655.98	13.990	23,167.16	19,855.20	(3,311.96)
Aston/River Road Small Cap Valu		12/30/2013	268.802	13.990	3,760.54	3,222.94	(537.60)
Aston/River Road Small Cap Valu		12/30/2013	42.041	13.990	588.15	504.07	(84.08)
Aston/River Road Small Cap Valu		12/30/2014	352.723	12.040	4,246.78	4,229.15	(17.63)
Aston/River Road Small Cap Valu	AKSIX	12/30/2014	1,212.701	12.040	14,600.92	14,540.28	(60.64)
			11,053.318		119,358.17	132,529.28	13,171.11
Cohen & Steers Global Realty I	CSSPX	11/27/2012	2,751.445	43.259	119,025.00	139,388.20	20,363.20
Cohen & Steers Global Realty I	CSSPX	12/13/2012	78.631	43.110	3,389.78	3,983.45	593.67
Cohen & Steers Global Realty I	CSSPX	06/28/2013	33.025	44.390	1,465.98	1,673.05	207.07
Cohen & Steers Global Realty I	CSSPX	12/12/2013	29.193	43.840	1,279.81	1,478.92	199.11
Cohen & Steers Global Realty I	CSSPX	06/30/2014	29.952	49.731	1,489.53	1,517.37	27.84
Cohen & Steers Global Realty I	CSSPX	12/11/2014	21.795	50.279	1,095.84	1,104.13	8.29
			2,944.041		127,745.94	149,145.12	21,399.18
Driehaus Emerging Markets Grow	DREGX	11/05/2010	1,883.089	36.470	68,676.25	55,814.76	(12,861.49)
Driehaus Emerging Markets Grow		12/07/2010	169.014	35.500	6,000.00	5,009.57	(990.43)
Driehaus Emerging Markets Grow	DREGX	12/21/2010	296.653	31.630	9,383.13	8,792.79	(590.34)
Driehaus Emerging Markets Grow		12/21/2010	164.744	31.630	5,210.86	4,883.01	(327.85)
Driehaus Emerging Markets Grow		12/21/2010	101.632	31.630	3,214.61	3,012.37	(202.24)
Driehaus Emerging Markets Grow		01/25/2011	113.101	31.830	3,600.00	3,352.31	(247.69)
Driehaus Emerging Markets Grow		12/20/2011	228.92	25.730	5,890.10	6,785.19	895.09
Driehaus Emerging Markets Grow	DREGX	12/20/2011	9.679	25.731	249.05	286.89	37.84

As of 12/31/2014

Rubeli - Maureen & Paul Rubeli Foundation

Description	Symbol	Trade Date	Quantity	Unit Cost	Cost Basis	Current Value	Unrealized Gain (Loss)
<del> </del>	Symbol		- Vullety	Cost	Dasis	<u>value</u>	Gain (LUSS)
Mutual Funds							
EQUITY MUTUAL FUNDS Driehaus Emerging Markets Grow	DDECY	12/19/2012	13.705	30.240	414.44	406.22	(9.33)
Driehaus Emerging Markets Grow		12/19/2012	74.163	32.280	2,393.97	2,198.19	(8.22) (195.78)
Driehaus Emerging Markets Grow		01/06/2014	501.882	31.880	16,000.00	14,875.78	(1,124.22)
Driehaus Emerging Markets Grow		12/18/2014	107.399	29.590	3,177.95	3,183.31	5.36
Driehaus Emerging Markets Grow		12/18/2014	6.813	29.589	201.59	201.94	0.35
3 2			3,670.794		124,411.95	108,802.33	(15,609.62)
			3,070.794		124,411.93	100,002.33	(13,009.02)
FPA Crescent Fund	FPC1Z	11/07/2011	4,082.188	27.361	111,693.18	137,733.02	26,039.84
FPA Crescent Fund	FPC1Z	12/20/2011	16.92	26.580	449.73	570.88	121.15
FPA Crescent Fund	FPC1Z	12/20/2011	79.523	26.580	2,113.71	2,683.11	569.40
FPA Crescent Fund	FPC1Z	07/02/2012	5.002	27.551	137.81	168.77	30.96
FPA Crescent Fund	FPC1Z	07/02/2012	15.007	27.549	413.43	506.34	92.91
FPA Crescent Fund	FPC1Z	07/02/2012	20.009	27.550	551.24	675.10	123.86
FPA Crescent Fund	FPC1Z	11/27/2012	568.421	28.544	16,225.00	19,178.52	2,953.52
FPA Crescent Fund	FPC1Z	01/02/2013	201.972	28.590	5,774.38	6,814.54	1,040.16
FPA Crescent Fund	FPC1Z	01/02/2013	9.098	28.590	260.11	306.97	46.86
FPA Crescent Fund	FPC1Z	07/01/2013	20.899	31.090	649.76	705.13	55.37
FPA Crescent Fund	FPC1Z	12/18/2013	3.105	32.329	100.38	104.76	4.38
FPA Crescent Fund	FPC1Z	12/18/2013	178.53	32.330	5,771.89	6,023.60	251.71
FPA Crescent Fund	FPC1Z	12/18/2013	4.657	32.332	150.57	157.13	6.56
FPA Crescent Fund	FPC1Z	07/01/2014	13.611	34.419	468.48	459.24	(9.24)
FPA Crescent Fund	FPC1Z	07/01/2014	30.246	34.420	1,041.07	1,020.50	(20.57)
FPA Crescent Fund	FPC1Z	12/22/2014	156.438	33.890	5,301.68	5,278.22	(23.46)
FPA Crescent Fund	FPC1Z	12/22/2014	17.038	33.890	577.41	574.86	(2.55)
			5,422.664		151,679.83	182,960.68	31,280.85
Gateway Y	GTEYX	02/03/2009	3,540.948	23.524	83,296.52	104,705.83	21,409.31
Gateway Y	GTEYX	03/27/2009	101.685	22.550	2,293.00	3,006.83	713.83
Gateway Y	GTEYX	06/26/2009	75.797	23.670	1,794.11	2,241.32	447.21
Gateway Y	GTEYX	09/25/2009	46.63	24.480	1,141.51	1,378.85	237.34
Gateway Y	GTEYX	11/02/2009	2,795.976	24.618	68,830.95	82,677.01	13,846.06
Gateway Y	GTEYX	12/22/2009	50.631	25.240	1,277.93	1,497.16	219.23
Gateway Y	GTEYX	03/25/2010	48.786	25.460	1,242.08	1,442.60	200.52
Gateway Y	GTEYX	06/24/2010	56.052	24.520	1,374.39	1,657.46	283.07
Gateway Y	GTEYX	09/23/2010	56.04	25.240	1,414.44	1,657.10	242.66
Gateway Y	GTEYX	12/21/2010	35.23	26.010	916.33	1,041.75	125.42
Gateway Y	GTEYX	01/25/2011	148.233	26.512	3,930.00	4,383.25	453.25
Gateway Y	GTEYX	03/24/2011	30.541	26.420	806.90	903.10	96 20
Gateway Y	GTEYX	06/23/2011	31.957	26.300	840.48	944.97	104.49
Gateway Y	GTEYX	09/22/2011	33.914	25.020	848.54	1,002.84	154.30
Gateway Y	GTEYX	11/07/2011	268.405	26.192	7,030.00	7,936.74	906.74
Gateway Y	GTEYX	12/20/2011	38.028	26.220	997.10	1,124.49	127.39
Gateway Y	GTEYX	03/22/2012	31.956	26.920	860.25	944.94	84.69
Gateway Y	GTEYX	06/21/2012	32.673	26.670	871.38	966.14	94.76
Gateway Y	GTEYX	09/20/2012	31.734	27.580	875.23	938.37	63.14
Gateway Y	GTEYX	11/13/2012	1,152.773	26.892	31,000.00	34,087.50	3,087.50
Gateway Y	GTEYX	12/20/2012	56.964	27.140	1,545.99	1,684.43	138.44
Gateway Y	GTEYX	01/03/2013 03/21/2013	365.251	27.378	10,000.00	10,800.47	800.47
Gateway Y Gateway Y	GTEYX GTEYX	05/21/2013	34.462 39.576	27.880	960.81	1,019.04	58.23
Gaicway I	JILIA	00/20/2013	37.370	27.760	1,098.64	1,170.26	71.62

Description	Symbol	Trade <u>Date</u>	Quantity	Unit Cost	Cost Basis	Current Value	Unrealized Gain (Loss)
Mutual Funds EQUITY MUTUAL FUNDS							
Gateway Y	GTEYX	09/24/2013	39.345	28.230	1,110.72	1,163.43	52.71
Gateway Y	GTEYX	12/18/2013	31.537	28.790	907.96	932.55	24.59
Gateway Y	GTEYX	03/20/2014	41.315	28.870	1,192.77	1,221.68	28.91
Gateway Y	GTEYX	06/19/2014	36.59	29.420	1,076.48	1,081.97	5.49
Gateway Y	GTEYX	09/23/2014	34	29.610	1,006.73	1,005.38	(1.35)
Gateway Y	GTEYX	12/18/2014	30.558	29.480	900.84	903.60	2.76
			9,317.587	_	231,442.08	275,521.05	44,078.97
Harbor International Inst'l	HAINX	11/21/2008	1,378.992	33.962	46,833.92	89,331.10	42,497.18
Harbor International Inst'l	HAINX	12/19/2008	129.23	39.050	5,046.43	8,371.52	3,325.09
Harbor International Inst'l	HAINX	11/02/2009	395.927	52.395	20,744.41	25,648.15	4,903.74
Harbor International Inst'l	HAINX	12/18/2009	47.636	53.480	2,547.56	3,085.86	538.30
Harbor International Inst'l	HAINX	12/07/2010	150.855	59.859	9,030.00	9,772.39	742.39
Harbor International Inst'l	HAINX	12/17/2010	46.605	59.151	2,756.71	3,019.07	262.36
Harbor International Inst'l	HAINX	12/16/2011	67.132	50.660	3,400.91	4,348.81	947.90
Harbor International Inst'l	HAINX	12/17/2012	50.297	61.270	3,081.70	3,258.24	176.54
Harbor International Inst'l	HAINX	12/17/2013	50.123	67.620	3,389.31	3,246.97	(142.34)
Harbor International Inst'l	HAINX	12/18/2014	49.937	65.810	3,286.33	3,234.92	(51.41)
			2,366.734		100,117.28	153,317.03	53,199.75
IQ Alpha Hedge Strategy Inst	IQHIX	11/07/2011	14,003.85	10.394	145,549.95	148,020.69	2,470.74
IQ Alpha Hedge Strategy Inst	IQHIX	12/30/2011	97.019	10.000	970.19	1,025.49	55.30
IQ Alpha Hedge Strategy Inst	IQHIX	12/30/2011	226.246	10.000	2,262.46	2,391.42	128.96
IQ Alpha Hedge Strategy Inst	IQHIX	11/13/2012	5,392.582	10.385	56,000.00	56,999.59	999.59
IQ Alpha Hedge Strategy Inst	IQHIX	12/31/2012	375	10.280	3,855.00	3,963.75	108.75
IQ Alpha Hedge Strategy Inst	IQHIX	12/31/2013	163.956	10.870	1,782.20	1,733.01	(49.19)
IQ Alpha Hedge Strategy Inst	IQHIX	12/31/2013	122.417	10.870	1,330.67	1,293.95	(36.72)
IQ Alpha Hedge Strategy Inst	IQHIX	12/31/2014	479.775	10.570	5,071.22	5,071.22	0.00
IQ Alpha Hedge Strategy Inst	IQHIX	12/31/2014	423.182	10.570	4,473.03	4,473.03	0.00
IQ Alpha Hedge Strategy Inst	IQHIX	12/31/2014	306.025	10.570 _	3,234.68	3,234.68	0.00
			21,590.052		224,529.40	228,206.85	3,677.45
Kalmar Growth With Value Inst	KGSIX	12/28/2007	4,891.985	17.584	86,022.79	96,714.54	10,691.75
Kalmar Growth With Value Inst	KGSIX	12/30/2010	135.322	17.579	2,378.87	2,675.32	296.45
Kalmar Growth With Value Inst	KGSIX	12/29/2011	378.051	17.579	6,645.88	7,474.07	828.19
Kalmar Growth With Value Inst	KGSIX	12/28/2012	557.997	15.867	8,853.81	11,031.60	2,177.79
Kalmar Growth With Value Inst	KGSIX	12/30/2013	98.871	22.730	2,247.36	1,954.68	(292.68)
Kalmar Growth With Value Inst	KGSIX	12/30/2014	437.833	19.840 _	8,686.61	8,655.96	(30.65)
			6,500.059		114,835.32	128,506.17	13,670.85
Lazard Emerging Markets Equity	LZEMX	07/31/2007	442.404	24.729	10,940.04	7,604.92	(3,335.12)
Lazard Emerging Markets Equity	LZEMX	08/27/2007	12.453	23.309	290.27	214.07	(76.20)
Lazard Emerging Markets Equity	LZEMX	08/27/2007	21.349	23.310	497.65	366.99	(130.66)
Lazard Emerging Markets Equity	LZEMX	10/31/2007	423.417	28.341	12,000.00	7,278.54	(4,721.46)
Lazard Emerging Markets Equity	LZEMX	12/26/2007	46.471	23.860	1,108.79	798.84	(309.95)
Lazard Emerging Markets Equity	LZEMX	12/26/2007	120.057	23.860	2,864.57	2,063.78	(800.79)
Lazard Emerging Markets Equity	LZEMX	12/26/2007	358.635	23.860	8,557.03	6,164.94	(2,392.09)
Lazard Emerging Markets Equity	LZEMX	08/25/2008	32.286	20.160	650.88	555.00	(95.88)

		Trade	•	Unit	Cost	Current	Unrealized
<u>Description</u>	Symbol	<u>Date</u>	<u>Ouantity</u>	Cost _	<u>Basis</u>	Value _	Gain (Loss)
Mutual Funds							
EQUITY MUTUAL FUNDS							
Lazard Emerging Markets Equity	LZEMX	08/25/2008	129.37	20.160	2,608.09	2,223.87	(384.22)
Lazard Emerging Markets Equity	<b>LZEMX</b>	11/21/2008	1,024.33	10.099	10,345.00	17,608.23	7,263.23
Lazard Emerging Markets Equity	LZEMX	12/22/2008	260.081	10.580	2,751.66	4,470.79	1,719.13
Lazard Emerging Markets Equity	LZEMX	12/22/2008	169.806	10.580	1,796.55	2,918.97	1,122.42
Lazard Emerging Markets Equity	LZEMX	12/22/2008	144.17	10.580	1,525.32	2,478.28	952.96
Lazard Emerging Markets Equity	LZEMX	11/02/2009	664.286	17.265	11,469.00	11,419.08	(49.92)
Lazard Emerging Markets Equity	LZEMX	12/29/2009	176.047	17.950	3,160.04	3,026.25	(133.79)
Lazard Emerging Markets Equity	LZEMX	08/09/2010	24.99	19.610	490.05	429.58	(60.47)
Lazard Emerging Markets Equity	LZEMX	11/05/2010	345.141	22.107	7,630.00	5,932.97	(1,697.03)
Lazard Emerging Markets Equity	LZEMX	12/07/2010	231.267	21.750	5,030.00	3,975.48	(1,054.52)
Lazard Emerging Markets Equity	LZEMX	12/28/2010	90.084	21.320	1,920.59	1,548.54	(372.05)
Lazard Emerging Markets Equity	LZEMX	01/25/2011	330.345	21.281	7,030.00	5,678.63	(1,351.37)
Lazard Emerging Markets Equity	LZEMX	08/09/2011	33.522	19.220	644.29	576.24	(68.05)
Lazard Emerging Markets Equity_	_LZEMX	12/28/2011_	164.152_	16.640_	2,731.49	——————————————————————————————————————	<b></b>
Lazard Emerging Markets Equity	LZEMX	12/28/2011	187.574	16.640	3,121.23	3,224.40	103.17
Lazard Emerging Markets Equity	LZEMX	12/24/2012	101.171	19.130	1,935.40	1,739.13	(196.27)
Lazard Emerging Markets Equity	LZEMX	12/24/2012	181.459	19.130	3,471.31	3,119.28	(352.03)
Lazard Emerging Markets Equity	LZEMX	12/23/2013	109.761	18.620	2,043.75	1,886.79	(156.96)
Lazard Emerging Markets Equity	LZEMX	12/23/2013	108.936	18.620	2,028.38	1,872.61	(155.77)
Lazard Emerging Markets Equity	LZEMX	08/11/2014	46.045	20.260	932.87	791.51	(141.36)
Lazard Emerging Markets Equity	LZEMX	12/22/2014	66.929	17.370	1,162.56	1,150.51	(12.05)
Lazard Emerging Markets Equity	LZEMX	12/22/2014	0.619	17.383	10.76	10.64	(0.12)
Lazard Emerging Markets Equity	LZEMX	12/22/2014	128.907	17.370 _	2,239.12	2,215.91	(23.21)
			6,176.064		112,986.69	106,166.54	(6,820.15)
						·	, ,
Manning & Napier World Opport	EXWAX	06/05/2009	11,526.454	6.610	76,189.87	84,488.91	8,299.04
Manning & Napier World Opport	EXWAX	09/15/2009	98.479	7.990	786.85	721.85	(65.00)
Manning & Napier World Opport	EXWAX	11/02/2009	2,621.094	7.680	20,130.00	19,212.62	(917.38)
Manning & Napier World Opport	EXWAX	12/15/2009	70.534	7.940	560.04	517.01	(43.03)
Manning & Napier World Opport	EXWAX	09/15/2010	132.593	7.990	1,059.42	971.91	(87.51)
Manning & Napier World Opport	EXWAX	09/15/2010	11.323	7.990	90.47	83.00	(7.47)
Manning & Napier World Opport	EXWAX	12/07/2010	576.701	8.670	5,000.00	4,227.22	(772.78)
Manning & Napier World Opport	EXWAX	12/15/2010	230.437	8.420	1,940.28	1,689.10	(251.18)
Manning & Napier World Opport	<b>EXWAX</b>	12/15/2010	193.505	8.420	1,629.31	1,418.39	(210.92)
Manning & Napier World Opport	<b>EXWAX</b>	12/15/2010	99.873	8.420	840.93	732.07	(108.86)
Manning & Napier World Opport	<b>EXWAX</b>	09/15/2011	87.6	7.500	657.00	642.11	(14.89)
Manning & Napier World Opport	<b>EXWAX</b>	09/15/2011	55.609	7.500	417.07	407.61	(9.46)
Manning & Napier World Opport	<b>EXWAX</b>	12/15/2011	838.815	6.430	5,393.58	6,148.51	754.93
Manning & Napier World Opport	<b>EXWAX</b>	12/15/2011	697.896	6.430	4,487.47	5,115.58	628.11
Manning & Napier World Opport	<b>EXWAX</b>	09/17/2012	12.661	7.680	97.24	92.81	(4.43)
Manning & Napier World Opport	<b>EXWAX</b>	12/17/2012	310.435	7.670	2,381.04	2,275.49	(105.55)
Manning & Napier World Opport	<b>EXWAX</b>	09/16/2013	4.001	8.780	35.13	29.33	(5.80)
Manning & Napier World Opport	<b>EXWAX</b>	12/16/2013	97.377	8.750	852.05	713.77	(138.28)
Manning & Napier World Opport	<b>EXWAX</b>	12/16/2013	202.183	8.750	1,769.10	1,482.00	(287.10)
Manning & Napier World Opport	<b>EXWAX</b>	09/15/2014	249.423	8.890	2,217.37	1,828.27	(389.10)
Manning & Napier World Opport	<b>EXWAX</b>	12/15/2014	259.297	6.980	1,809.89	1,900.65	90.76
Manning & Napier World Opport	<b>EXWAX</b>	12/15/2014	1,258.067	6.980	8,781.31	9,221.63	440.32
Manning & Napier World Opport	<b>EXWAX</b>	12/15/2014	270.716	6.980	1,889.60	1,984.35	94.75
			19,905.073	_	139,015.02	145,904.19	6,889.17
			. , , , , , , , , , , , , , , , , , , ,		137,013.02	173,704.17	0,007.17

Description	Symbol	Trade Date	Quantity	Unit Cost	Cost Basis	Current Value	Unrealized Gain (Loss)
-	2,						Guil (E033)
Mutual Funds EQUITY MUTUAL FUNDS							
New Century Alternative	NCHPX	06/05/2009	15,081.665	10.410	157,000.14	195,307.56	38,307.42
New Century Alternative	NCHPX	08/06/2009	554.529	10.820	6,000.00	7,181.15	1,181.15
New Century Alternative	NCHPX	12/31/2009	277.645	11.350	3,151.27	3,595.50	444.23
New Century Alternative	NCHPX	12/07/2010	248.139	12.090	3,000.00	3,213.40	213.40
New Century Alternative	NCHPX	12/31/2010	215.983	12.120	2,617.71	2,796.98	179.27
New Century Alternative	NCHPX	12/30/2011	242.103	11.480	2,779.34	3,135.23	355.89
New Century Alternative	NCHPX	12/10/2012	243.506	12.320	3,000.00	3,153.40	153.40
New Century Alternative	NCHPX	12/31/2012	97.516	12.330	1,202.37	1,262.83	60.46
New Century Alternative	NCHPX	12/31/2013	102.365	13.040	1,334.84	1,325.63	(9.21)
New Century Alternative	NCHPX	12/31/2014	180.121	12.950	2,332.57	2,332.57	0.00
			17,243.572		182,418.24	223,304.26	40,886.02
SunAmerica Focused Dividend St	FDSWX	06/12/2014	<u>74,267.785</u>	17.290	_ 1,284,115.00	1,270,721.80	(13,393.20)
SunAmerica Focused Dividend St		06/25/2014	468.586	17.420	8,162.77	8,017.51	(145.26)
SunAmerica Focused Dividend St	FDSWX	09/24/2014	487.11	17.790	8,665.68	8,334.45	(331.23)
SunAmerica Focused Dividend St	FDSWX	12/16/2014	637.81	16.330	10,415.44	10,912.93	497.49
SunAmerica Focused Dividend St	FDSWX	12/16/2014	4,297.781	16.330	70,182.76	73,535.03	3,352.27
SunAmerica Focused Dividend St	FDSWX	12/16/2014	696.22	16.330	11,369.28	11,912.32	543.04
			80,855.292	•	1,392,910.93	1,383,434.05	(9,476.88)
				-	3,152,678.76	3,365,892.55	212 212 70
					3,132,076.70	3,303,692.33	213,213.79
BOND MUTUAL FUND							
Doubleline Total Return	DLTNX	06/13/2013	4,448.399	11.240	50,000.00	48,798.94	(1,201.06)
Doubleline Total Return	DLTNX	06/14/2013	4,444.444	11.250	50,000.00	48,755.55	(1,244.45)
Doubleline Total Return	DLTNX	06/28/2013	33.79	11.020	372.37	370.68	(1.69)
Doubleline Total Return	DLTNX	07/31/2013	35.242	10.960	386.25	386.60	0.35
Doubleline Total Return	DLTNX	08/30/2013	35.687	10.870	387.92	391.49	3.57
Doubleline Total Return	DLTNX	09/30/2013	37.961	10.950	415.67	416.43	0.76
Doubleline Total Return	DLTNX	10/31/2013	39.55	10.980	434.26	433.86	(0.40)
Doubleline Total Return	DLTNX	11/29/2013	36.576	10.900	398.68	401.24	2.56
Doubleline Total Return	DLTNX	12/31/2013	43.508	10.780	469.02	477.28	8.26
Doubleline Total Return	DLTNX	01/31/2014	38.223	10.970	419.31	419.31	0.00
Doubleline Total Return	DLTNX	02/28/2014	36.158	10.960	396.29	396.65	0.36
Doubleline Total Return	DLTNX	03/31/2014	36.191	10.890	394.12	397.02	2.90
Doubleline Total Return	DLTNX	04/30/2014	36.635	10.930	400.42	401.89	1.47
Doubleline Total Return	DLTNX	05/30/2014	35.063	11.010	386.04	384.64	(1.40)
Doubleline Total Return	DLTNX	06/30/2014	34.928	10.990	383.86	383.16	(0.70)
Doubleline Total Return	DLTNX	07/31/2014	37.58	10.940	411.12	412.25	1.13
Doubleline Total Return	DLTNX	08/29/2014	36.202	11.000	398.22	397.14	(1.08)
Doubleline Total Return	DLTNX	09/30/2014	33.453	10.930	365.64	366.98	1.34
Doubleline Total Return	DLTNX	10/31/2014	31.969	10.970	350.70	350.70	0.00
Doubleline Total Return	DLTNX	11/28/2014	31.321	11.000	344.53	343.59	(0.94)
Doubleline Total Return	DLTNX	12/31/2014	<u>35.869</u> 9,578.749	10.970	393.48 107,507.90	393.48	(2.420.02)
			7,218.147		107,307.90	105,078.88	(2,429.02)
Doubleline Total Return I	DBLTX	01/06/2014	6,839.187	10.824	74,025.00	75,025.88	1,000.88
Doubleline Total Return I	DBLTX	01/31/2014	30.005	10.970	329.15	329.15	0.00

As of 12/31/2014

Rubeli - Maureen & Paul Rubeli Foundation

Description   Symbol   Date   Quantity   Cost   Basis   Value   Gain (Loss   Mutual Funds   BOND MUTUAL FUND	escription	Symbol	Trade Date	Quantity	Unit Cost	Cost Basis	Current Value	Unrealized
Doubleline Total Return I   DBLTX   02/28/2014   28.341   10.960   310.62   310.90   0.28	· · · · · · · · · · · · · · · · · · ·	Symbol	Date	Quantity	Cust		value	Gain (Loss)
Doubleline Total Return I         DBLTX         02/28/2014         28.341         10.960         310.62         310.90         0.28           Doubleline Total Return I         DBLTX         03/31/2014         28.39         10.900         309.45         311.44         1.99           Doubleline Total Return I         DBLTX         04/03/2014         16,084.559         10.882         175,025.00         176,447.61         1,422.61           Doubleline Total Return I         DBLTX         04/30/2014         95.527         10.930         1,044.11         1,047.93         3.82           Doubleline Total Return I         DBLTX         05/30/2014         92.257         11.010         1,015.75         1,012.06         (3.69)           Doubleline Total Return I         DBLTX         06/30/2014         91.321         10.990         1,003.62         1,001.79         (1.83)           Doubleline Total Return I         DBLTX         07/31/2014         98.874         10.940         1,081.68         1,084.65         2.97           Doubleline Total Return I         DBLTX         09/30/2014         88.147         10.940         964.33         966.97         2.64           Doubleline Total Return I         DBLTX         10/31/2014         84.402         10.970 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>								
Doubleline Total Return I         DBLTX         03/31/2014         28.39         10.900         309.45         311.44         1.99           Doubleline Total Return I         DBLTX         04/03/2014         16,084.559         10.882         175,025.00         176,447.61         1,422.61           Doubleline Total Return I         DBLTX         04/30/2014         95.527         10.930         1,044.11         1,047.93         3.82           Doubleline Total Return I         DBLTX         05/30/2014         92.257         11.010         1,015.75         1,012.06         (3.69)           Doubleline Total Return I         DBLTX         06/30/2014         91.321         10.990         1,003.62         1,001.79         (1.83)           Doubleline Total Return I         DBLTX         07/31/2014         98.874         10.940         1,081.68         1,084.65         2.97           Doubleline Total Return I         DBLTX         08/29/2014         94.686         11.000         1,041.55         1,038.71         (2.84)           Doubleline Total Return I         DBLTX         09/30/2014         88.147         10.940         964.33         966.97         2.64           Doubleline Total Return I         DBLTX         10/31/2014         84.402         10.970	_ ****	איז זמח	02/29/2014	20 241	10.060	210.62	210.00	0.20
Doubleline Total Return I         DBLTX         04/03/2014         16,084.559         10.882         175,025.00         176,447.61         1,422.61           Doubleline Total Return I         DBLTX         04/30/2014         95.527         10.930         1,044.11         1,047.93         3.82           Doubleline Total Return I         DBLTX         05/30/2014         92.257         11.010         1,015.75         1,012.06         (3.69)           Doubleline Total Return I         DBLTX         06/30/2014         91.321         10.990         1,003.62         1,001.79         (1.83)           Doubleline Total Return I         DBLTX         07/31/2014         98.874         10.940         1,081.68         1,084.65         2.97           Doubleline Total Return I         DBLTX         08/29/2014         94.686         11.000         1,041.55         1,038.71         (2.84)           Doubleline Total Return I         DBLTX         09/30/2014         88.147         10.940         964.33         966.97         2.64           Doubleline Total Return I         DBLTX         10/31/2014         84.402         10.970         925.89         925.89         925.89         0.00           Doubleline Total Return I         DBLTX         11/28/2014         82.142								
Doubleline Total Return I         DBLTX         04/30/2014         95.527         10.930         1,044.11         1,047.93         3.82           Doubleline Total Return I         DBLTX         05/30/2014         92.257         11.010         1,015.75         1,012.06         (3.69)           Doubleline Total Return I         DBLTX         06/30/2014         91.321         10.990         1,003.62         1,001.79         (1.83)           Doubleline Total Return I         DBLTX         07/31/2014         98.874         10.940         1,081.68         1,084.65         2.97           Doubleline Total Return I         DBLTX         08/29/2014         94.686         11.000         1,041.55         1,038.71         (2.84)           Doubleline Total Return I         DBLTX         09/30/2014         88.147         10.940         964.33         966.97         2.64           Doubleline Total Return I         DBLTX         10/31/2014         84.402         10.970         925.89         925.89         0.00           Doubleline Total Return I         DBLTX         11/28/2014         82.142         11.010         904.38         901.10         (3.28)           Doubleline Total Return I         DBLTX         12/31/2014         94.676         10.970         1,038								
Doubleline Total Return I         DBLTX         05/30/2014         92.257         11.010         1,015.75         1,012.06         (3.69)           Doubleline Total Return I         DBLTX         06/30/2014         91.321         10.990         1,003.62         1,001.79         (1.83)           Doubleline Total Return I         DBLTX         07/31/2014         98.874         10.940         1,081.68         1,084.65         2.97           Doubleline Total Return I         DBLTX         08/29/2014         94.686         11.000         1,041.55         1,038.71         (2.84)           Doubleline Total Return I         DBLTX         09/30/2014         88.147         10.940         964.33         966.97         2.64           Doubleline Total Return I         DBLTX         10/31/2014         84.402         10.970         925.89         925.89         0.00           Doubleline Total Return I         DBLTX         11/28/2014         82.142         11.010         904.38         901.10         (3.28)           Doubleline Total Return I         DBLTX         12/31/2014         94.676         10.970         1,038.60         1,038.60         0.00           23,832.514         259,019.13         261,442.68         2,423.55           Lord Abbett Short								•
Doubleline Total Return I         DBLTX         06/30/2014         91.321         10.990         1,003.62         1,001.79         (1.83)           Doubleline Total Return I         DBLTX         07/31/2014         98.874         10.940         1,081.68         1,084.65         2.97           Doubleline Total Return I         DBLTX         08/29/2014         94.686         11.000         1,041.55         1,038.71         (2.84)           Doubleline Total Return I         DBLTX         09/30/2014         88.147         10.940         964.33         966.97         2.64           Doubleline Total Return I         DBLTX         10/31/2014         84.402         10.970         925.89         925.89         0.00           Doubleline Total Return I         DBLTX         11/28/2014         82.142         11.010         904.38         901.10         (3.28)           Doubleline Total Return I         DBLTX         12/31/2014         94.676         10.970         1,038.60         1,038.60         0.00           23,832.514         259,019.13         261,442.68         2,423.55           Lord Abbett Short Duration Inco         LLDYX         06/04/2013         27,109.544         4.611         125,000.00         120,637.47         (4,362.53) <td></td> <td></td> <td></td> <td></td> <td></td> <td>•</td> <td>•</td> <td></td>						•	•	
Doubleline Total Return I         DBLTX         07/31/2014         98.874         10.940         1,081.68         1,084.65         2 97           Doubleline Total Return I         DBLTX         08/29/2014         94.686         11.000         1,041.55         1,038.71         (2.84)           Doubleline Total Return I         DBLTX         09/30/2014         88.147         10.940         964.33         966.97         2.64           Doubleline Total Return I         DBLTX         10/31/2014         84.402         10.970         925.89         925.89         0.00           Doubleline Total Return I         DBLTX         11/28/2014         82.142         11.010         904.38         901.10         (3.28)           Doubleline Total Return I         DBLTX         12/31/2014         94.676         10.970         1,038.60         1,038.60         0.00           23,832.514         259,019.13         261,442.68         2,423.55           Lord Abbett Short Duration Inco         LLDYX         06/04/2013         27,109.544         4.611         125,000.00         120,637.47         (4,362.53)           Lord Abbett Short Duration Inco         LLDYX         06/28/2013         78.353         4.560         357.29         348.67         (8.62)								, ,
Doubleline Total Return I         DBLTX         08/29/2014         94.686         11.000         1,041.55         1,038.71         (2.84)           Doubleline Total Return I         DBLTX         09/30/2014         88.147         10.940         964.33         966.97         2.64           Doubleline Total Return I         DBLTX         10/31/2014         84.402         10.970         925.89         925.89         0.00           Doubleline Total Return I         DBLTX         11/28/2014         82.142         11.010         904.38         901.10         (3.28)           Doubleline Total Return I         DBLTX         12/31/2014         94.676         10.970         1,038.60         1,038.60         0.00           23,832.514         259,019.13         261,442.68         2,423.55           Lord Abbett Short Duration Inco         LLDYX         06/04/2013         27,109.544         4.611         125,000.00         120,637.47         (4,362.53)           Lord Abbett Short Duration Inco         LLDYX         06/28/2013         78.353         4.560         357.29         348.67         (8.62)								
Doubleline Total Return I         DBLTX         09/30/2014         88.147         10.940         964.33         966.97         2.64           Doubleline Total Return I         DBLTX         10/31/2014         84.402         10.970         925.89         925.89         0.00           Doubleline Total Return I         DBLTX         11/28/2014         82.142         11.010         904.38         901.10         (3.28)           Doubleline Total Return I         DBLTX         12/31/2014         94.676         10.970         1,038.60         1,038.60         0.00           23,832.514         259,019.13         261,442.68         2,423.55           Lord Abbett Short Duration Inco         LLDYX         06/04/2013         27,109.544         4.611         125,000.00         120,637.47         (4,362.53)           Lord Abbett Short Duration Inco         LLDYX         06/28/2013         78.353         4.560         357.29         348.67         (8.62)						•	*	
Doubleline Total Return I         DBLTX         10/31/2014         84.402         10.970         925.89         925.89         0.00           Doubleline Total Return I         DBLTX         11/28/2014         82.142         11.010         904.38         901.10         (3.28)           Doubleline Total Return I         DBLTX         12/31/2014         94.676         10.970         1,038.60         1,038.60         0.00           23,832.514         259,019.13         261,442.68         2,423.55           Lord Abbett Short Duration Inco         LLDYX         06/04/2013         27,109.544         4.611         125,000.00         120,637.47         (4,362.53)           Lord Abbett Short Duration Inco         LLDYX         06/28/2013         78.353         4.560         357.29         348.67         (8.62)							•	
Doubleline Total Return I         DBLTX         11/28/2014         82.142         11.010         904.38         901.10         (3.28)           Doubleline Total Return I         DBLTX         12/31/2014         94.676         10.970         1,038.60         1,038.60         0.00           23,832.514         259,019.13         261,442.68         2,423.55           Lord Abbett Short Duration Inco         LLDYX         06/04/2013         27,109.544         4.611         125,000.00         120,637.47         (4,362.53)           Lord Abbett Short Duration Inco         LLDYX         06/28/2013         78.353         4.560         357.29         348.67         (8.62)								
Doubleline Total Return I         DBLTX         12/31/2014         94.676         10.970         1,038.60         1,038.60         0.00           23,832.514         23,832.514         259,019.13         261,442.68         2,423.55           Lord Abbett Short Duration Inco         LLDYX         06/04/2013         27,109.544         4.611         125,000.00         120,637.47         (4,362.53)           Lord Abbett Short Duration Inco         LLDYX         06/28/2013         78.353         4.560         357.29         348.67         (8.62)								
23,832.514 259,019.13 261,442.68 2,423.55  Lord Abbett Short Duration Inco LLDYX 06/04/2013 27,109.544 4.611 125,000.00 120,637.47 (4,362.53)  Lord Abbett Short Duration Inco LLDYX 06/28/2013 78.353 4.560 357.29 348.67 (8.62)								
Lord Abbett Short Duration Inco LLDYX 06/04/2013 27,109.544 4.611 125,000.00 120,637.47 (4,362.53) Lord Abbett Short Duration Inco LLDYX 06/28/2013 78.353 4.560 357.29 348.67 (8.62)	Additional Foundation I	DDDIN	12/31/2011		10.570 _	<del></del> _		
Lord Abbett Short Duration Inco LLDYX 06/28/2013 78.353 4.560 357.29 348.67 (8.62)				23,832.514		259,019.13	261,442.68	2,423.55
Lord Abbett Short Duration Inco LLDYX 06/28/2013 78.353 4.560 357.29 348.67 (8.62)	ord Abbett Short Duration Inco	LLDYX	06/04/2013	27.109.544	4.611	125,000.00	120 637 47	(4 362 53)
(0.02)	rd Abbett Short Duration Inco	LLDYX		•		•	•	
		LLDYX						
T 1 4 11 11 01 1 1 T T T T T T T T T T T T T								(8.26)
(0.20)	rd Abbett Short Duration Inco	LLDYX						(9.71)
	rd Abbett Short Duration Inco	LLDYX	10/31/2013					(10.35)
(	rd Abbett Short Duration Inco	LLDYX	11/20/2013					(1,298.53)
(-)	rd Abbett Short Duration Inco	LLDYX	11/29/2013	•			•	(11.71)
(-1111)	rd Abbett Short Duration Inco	LLDYX	12/18/2013	46.98				(5.17)
	rd Abbett Short Duration Inco	LLDYX	12/18/2013	4.195	4.560			(0.46)
The state of the s	rd Abbett Short Duration Inco	LLDYX	12/31/2013	117.976	4.550	536.79		(11.80)
	rd Abbett Short Duration Inco	LLDYX	01/31/2014	122.848				(12.29)
T I I I I I I I I I I I I I I I I I I I	rd Abbett Short Duration Inco	LLDYX	02/28/2014	123.114	4.560	561.40	547.86	(13.54)
	rd Abbett Short Duration Inco	LLDYX	03/31/2014	121.914	4.550	554.71	542.52	(12.19)
	rd Abbett Short Duration Inco	LLDYX	04/30/2014	125.848	4.550	572.61	560.02	(12.59)
	rd Abbett Short Duration Inco	LLDYX	05/30/2014	125.524	4.560	572.39	558.58	(13.81)
	rd Abbett Short Duration Inco	LLDYX	06/30/2014	126.516	4.550	575.65	563.00	(12.65)
	rd Abbett Short Duration Inco	LLDYX	07/31/2014	129.748	4.530	587.76	577.38	(10.38)
T 1411 00 01 1 T TTDTT 00/00/0014 400.04 400.0	rd Abbett Short Duration Inco	LLDYX	08/29/2014	132.94	4.530	602.22	591.58	(10.64)
Lord Abbett Short Duration Inco LLDYX 09/30/2014 130.933 4.500 589.20 582.65 (6.55)	rd Abbett Short Duration Inco	LLDYX	09/30/2014	130.933	4.500	589.20	582.65	(6.55)
Lord Abbett Short Duration Inco LLDYX 10/31/2014 127.409 4.500 573.34 566.97 (6.37)	rd Abbett Short Duration Inco	LLDYX	10/31/2014	127.409	4.500	573.34	566.97	(6.37)
T 1411 (7) T 1 T 1 T 1 T 1 T 1 T 1 T 1 T 1 T 1	rd Abbett Short Duration Inco	LLDYX	11/28/2014	128.944	4.500	580.25	573.80	(6.45)
Lord Abbett Short Duration Inco LLDYX 12/31/2014 135.962 4.450 605.03 605.03 0.00	rd Abbett Short Duration Inco	LLDYX	12/31/2014	135.962	4.450	605.03	605.03	
39,956.174 183,659.55 177,804.97 (5,854.58)				39,956.174		183,659.55	177,804.97	(5,854.58)
T. Rowe Price Instl Floating Rate RPIFX 06/04/2013 2,429.475 10.290 25,000.00 24,367.63 (632.37)				•				(632.37)
T. Rowe Price Instl Floating Rate RPIFX 06/28/2013 6.977 10.181 71.03 69.98 (1.05)								, ,
T. Rowe Price Instl Floating Rate RPIFX 07/31/2013 9.004 10.280 92.56 90.31 (2.25)								(2.25)
T. Rowe Price Instl Floating Rate RPIFX 08/30/2013 9.381 10.230 95.97 94.09 (1.88)								(1.88)
T. Rowe Price Instl Floating Rate RPIFX 09/30/2013 7.655 10.219 78.23 76.78 (1.45)								, ,
T. Rowe Price Instl Floating Rate RPIFX 10/31/2013 8.463 10.280 87.00 84.88 (2.12)	-							
T. Rowe Price Instl Floating Rate RPIFX 11/20/2013 5,739.3 10.284 59,025.00 57,565.18 (1,459.82)	_						•	
T. Rowe Price Instl Floating Rate RPIFX 11/29/2013 15.592 10.280 160.29 156.39 (3.90)								
T. Rowe Price Instl Floating Rate RPIFX 12/31/2013 29.146 10.290 299.91 292.33 (7.58)								` '
T. Rowe Price Instl Floating Rate RPIFX 01/31/2014 30.89 10.300 318.17 309.83 (8.34)								
T. Rowe Price Instl Floating Rate RPIFX 02/28/2014 26.455 10.300 272.49 265.34 (7.15)	kowe Price Insti Floating Rate	KPIFX	02/28/2014	26.455	10.300	272.49	265.34	(7.15)

As of 12/31/2014

Description	Symbol	Trade Date	Quantity	Unit <u>Cost</u>	Cost Basis	CurrentValue	Unrealized Gain (Loss)
Mutual Funds BOND MUTUAL FUND							
T. Rowe Price Instl Floating Rate	RPIFX	03/31/2014	27.894	10.280	286.75	279.78	(6.97)
T. Rowe Price Instl Floating Rate	RPIFX	04/30/2014	29.802	10.260	305.77	298.91	(6.86)
T. Rowe Price Instl Floating Rate	RPIFX	05/30/2014	30.446	10.270	312.68	305.37	(7.31)
T. Rowe Price Instl Floating Rate	RPIFX	06/30/2014	27.18	10.290	279.68	272.62	(7.06)
T. Rowe Price Instl Floating Rate	RPIFX	07/31/2014	29.894	10.250	306.41	299.84	(6.57)
T. Rowe Price Instl Floating Rate	RPIFX	08/05/2014	4,007.82	10.236	41,025.00	40,198.43	(826.57)
T. Rowe Price Instl Floating Rate	RPIFX	08/29/2014	44.442	10.240	455.09	445.75	(9.34)
T. Rowe Price Instl Floating Rate	RPIFX	09/30/2014	42.495	10.140	430.90	426.22	(4.68)
T. Rowe Price Instl Floating Rate	RPIFX	10/31/2014	49.855	10.150	506.03	500.05	(5.98)
T. Rowe Price Instl Floating Rate	RPIFX	11/28/2014	43.713	10.150	443.69	438.44	(5.25)
T. Rowe Price Inst! Floating Rate	RPIFX	12/31/2014	48.948	10.030	490.95	490.95	0.00
1. Nowe Thee fish Hoading Rate	KIIX	12/31/2014	12,694.827	10.030	130,343.60	127,329.11	(3,014.49)
					- 680 <u>,</u> 530.18	671,655.64 -	(8,874.54) -
MASTER LIMITED PARTN Tortoise MLP & Pipeline Investor		12/22/2014	6,592.04	16.080	106,000.00	108,241.30	2,241.30
				•	3,939,208.94	4,145,789.49	206,580.55
Fixed Income CORPORATE BONDS Altera Corporation 11/15/2023 4. Accrued Income	021441AF7	03/13/2014	25,000	101.594	25,398.61	25,939.38 130.97	540.77
Ball Corporation 05/15/2021 5.75 Accrued Income	058498AQ9	12/03/2014	25,000	105.100	26,275.00	26,125.00 183.68	(150.00)
GE Cap Corp 8/17/2032 4.00% Accrued Income	36966TGE6	08/16/2012	50,000	100.047	50,023.41	49,891.25 577.78	(132.16)
Host Hotels & Resorts 11/01/2020 Accrued Income	44107TAK2	09/30/2014	75,000	107.685	80,764.00	79,687.50 1,875.00	(1,076.50)
Western Union 12/10/2015 2.375 Accrued Income	959802AQ2	12/06/2012	25,000	100.323	25,080.85	25,230.63 34.64	149.78
				•	207,541.87	209,675.83	(668.11)
TAXABLE MUNICIPAL BO Fannin County Pub Fac TX 10/01 Accrued Income		07/22/2014	50,000	99.550	49,775.00	53,420.00 1,322.50	3,645.00
Garza Cnty TX 10/01/2020 6.20 Accrued Income	367080AT5	03/28/2012	20,000	99.448	19,889.55	20,941.60 310.00	1,052.05
Garza Cnty TX 10/01/2025 7.20% Accrued Income	367080AU2	04/03/2012	30,000	101.266	30,379.89	31,974.90 540.00	1,595.01

Rubeli - Maureen & Paul Rubeli Foundation

Description	Symbol	Trade Date	Quantity	Unit Cost	Cost <u>Basis</u>	Current Value	Unrealized Gain (Loss)
Fixed Income TAXABLE MUNICIPAL BO Garza Cnty TX 10/01/2025 7.20% Accrued Income		10/26/2012	20,000	109.264	21,852.77	21,316.60	(536.17)
Accrued Income			50,000		52,232.66	360.00 54,191.50	1,058.84
Illinois St IL 06/01/2015 4.05% Accrued Income	452151LC5	02/17/2010	25,000	100.004	25,001.07	25,324.25 84.38	323.18
Maricopa Cnty AZ 07/01/2029 7. Accrued Income	566747DC2	08/26/2010	25,000	109.769	27,442.24	27,960.50 937.50	518.26
Michigan Fin Auth 11/01/2015 4. Accrued Income	59447PDG3	04/29/2011	25,000	100.556	25,139.04	25,541.50 197.92	402.46
Putnam Hospital Center NY 07/01 Accrued Income	649903UL3	11/12/2009	20,000	97.521	19,504.11	22,075.80 625.00	2,571.69
Reeves Cnty TX 12/01/2015 6.15 Accrued Income	758582BV1	03/14/2013	25,000	103.133	25,783.23	25,395.50 512.50	(387.73)
Reeves Cnty TX 12/01/2016 6% Accrued Income	758582BW9	09/10/2012	25,000	102.094	25,523.44	25,901.25 500.00	377.81
Reeves Cnty TX 12/01/2017 7.40 Accrued Income	758582BQ2	03/24/2010	20,000	100.877	20,175.43	20,806.20 123.33	630.77
Reeves Cnty TX 12/01/2018 7.50 Accrued Income	758582BR0	03/01/2010	25,000	98.838	24,709.50	25,961.75 156.25	1,252.25
San Luis Fac Dev Corp AZ 05/01/ Accrued Income	79854SAS8	04/16/2014	50,000	99.600	49,800.00	50,694.50 604.17	894.50
St Charles Cnty MO 10/01/2025 5 Accrued Income	78775RAB5	10/06/2014	25,000	114.462	28,615.50	28,450.50 362.81	(165.00)
Temecula CA 08/01/2016 5.835 Accrued Income	87970FEF2	02/24/2010	50,000	100.011	50,005.47	52,319.00 1,215.63	2,313.53
Tulsa OK Arpt 06/01/2018 6.00 Accrued Income	899647MJ7	04/22/2010	30,000	100.034	30,010.08	32,415.30 150.00	2,405.22
Ypsilanti MI 05/01/2031 6.20% Accrued Income	987830LB0	11/18/2014	30,000	106.327	31,898.20	31,591.50 310.00	(306.70)
				-	505,504.52	530,402.64	16,586.13
				-	713,046.39	740,078.47	15,918.02

As of 12/31/2014

Description  Cash and Money Funds	Symbol	Trade Date	Quantity	Unit Cost	Cost Basis	Current Value	Unrealized Gain (Loss)
CASH AND EQUIVALENTS CASH	CASH			1	28,232.51	128,232.51	
				5,4	33,561.31	5,711,146.97	266.471.60

OS AND INTER	EST FROM SECUR	ITIES ST	PATEMENT 1
CAPITAL GAINS DIVIDENDS	(A) REVENUE S PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME
9. 124,18	5. 163,274.	137,367.	
9. 124,18	163,274.	137,367.	
LEGAL	FEES	នា	PATEMENT 2
(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
<sub>117</sub> .			117.
117.	0.		117.
ACCOUNTI	NG FEES	នា	PATEMENT 3
(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
3,500.	250.	_	3,250.
3,500.	250.		3,250.
OTHER PROFES	SIONAL FEES	នា	CATEMENT 4
(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
25,003.	25,003.		0.
	CAPITAL GAINS DIVIDENDS 9. 124,18 9. 124,18 LEGAL  (A) EXPENSES PER BOOKS  117. 117.  ACCOUNTINA  (A) EXPENSES PER BOOKS  3,500.  3,500.  OTHER PROFES	CAPITAL (A) GAINS REVENUE PER BOOKS  9. 124,185. 163,274.  9. 124,185. 163,274.  LEGAL FEES  (A) (B) EXPENSES NET INVEST- PER BOOKS MENT INCOME  117. 0.  ACCOUNTING FEES  (A) (B) EXPENSES NET INVEST- PER BOOKS MENT INCOME  3,500. 250.  3,500. 250.  OTHER PROFESSIONAL FEES  (A) (B) EXPENSES NET INVEST- PER BOOKS MENT INCOME  3,500. 250.	CAPITAL (A) (B) GAINS REVENUE NET INVEST- MENT INCOME  9. 124,185. 163,274. 137,367.  9. 124,185. 163,274. 137,367.  LEGAL FEES ST  (A) (B) (C) EXPENSES NET INVEST- PER BOOKS MENT INCOME  117. 0.  117. 0.  ACCOUNTING FEES ST  (A) (B) (C) EXPENSES NET INVEST- PER BOOKS MENT INCOME  3,500. 250.  3,500. 250.  OTHER PROFESSIONAL FEES ST  (A) (B) (C) ADJUSTED NET INCOME  3,500. 250.  OTHER PROFESSIONAL FEES ST

FORM 990-PF	TAX	ES	······································		STATEMENT	5 
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVE MENT INC		(C) ADJUSTEI NET INCOM		
AZ CORPORATION COMMISSION FEDERAL TAX FOREIGN TAXES	10. 8,305. 973.		5. 0. 973.			5. 0.
TO FORM 990-PF, PG 1, LN 18	9,288.		978.			5.
FORM 990-PF U.S. AND	STATE/CITY G	OVERNMENT	OBL	IGATIONS	STATEMENT	6
DESCRIPTION	U.S GOV'		вос	OK VALUE	FAIR MARKET	r
FIXED INCOME - MUNICIPAL (SE STATEMENT ATTACHED)	Е	<u> </u>		505,505.	522,09	<del>-</del> -
TOTAL U.S. GOVERNMENT OBLIGA	TIONS					
TOTAL STATE AND MUNICIPAL GO	VERNMENT OBL	IGATIONS		505,505.	522,09	€1.
TOTAL TO FORM 990-PF, PART I	I, LINE 10A			505,505.	522,09	€ 1.
FORM 990-PF	CORPORAT	E STOCK			STATEMENT	7
DESCRIPTION			вос	OK VALUE	FAIR MARKET	r
EQUITIES (SEE STATEMENT ATTA EQUITY MUTUAL FUNDS (SEE STA		HED)	3	653,073. 3,152,679.	697,04	
TOTAL TO FORM 990-PF, PART I	I, LINE 10B			3,805,752.	4,062,94	10.

FORM 990-PF	CORPORATE BONDS		STATEMENT 8	
DESCRIPTION		BOOK VALUE	FAIR MARKET VALUE	
BOND MUTUAL FUNDS (SEE STATEMENT FIXED INCOME - CORPORATE (SEE STA	·	680,530.	671,656. 206,874.	
ATTACHED)	A I EMEN I	207,542.		
TOTAL TO FORM 990-PF, PART II, LI	INE 10C	888,072.	878,530.	
FORM 990-PF OT	THER INVESTMENTS		STATEMENT 9	
DESCRIPTION	VALUATION METHOD	BOOK VALUE	FAIR MARKET VALUE	
MASTER LIMITED PARTNERSHIPS	COST	106,000.	108,241.	
MADIER DIMITED PARINERSHIPS				
TOTAL TO FORM 990-PF, -PART II, -LI		106,000-	- 108,-241.	
TOTAL TO FORM 990-PF, PART II, LI		106,000	- 108,-241.	
TOTAL TO FORM 990-PF, PART II, LI	INE- 1-3	END OF YEAR BOOK VALUE		
TOTAL TO FORM 990-PF, -PART II, -LI  FORM 990-PF  DESCRIPTION  DIVIDENDS RECEIVABLE/UNSETTLED	OTHER ASSETS BEGINNING OF	END OF YEAR	STATEMENT 10	
TOTAL TO FORM 990-PF, -PART II, -LI FORM 990-PF  DESCRIPTION  DIVIDENDS RECEIVABLE/UNSETTLED PURCHASES & SALES	OTHER ASSETS  BEGINNING OF YR BOOK VALUE	END OF YEAR BOOK VALUE	STATEMENT 10 FAIR MARKET VALUE	
TOTAL TO FORM 990-PF, -PART II, -LI  FORM 990-PF  DESCRIPTION  DIVIDENDS RECEIVABLE/UNSETTLED PURCHASES & SALES  TO FORM 990-PF, PART II, LINE 15	OTHER ASSETS  BEGINNING OF YR BOOK VALUE  1,748.	END OF YEAR BOOK VALUE	STATEMENT 10  FAIR MARKET VALUE  4,228.	
TOTAL TO FORM 990-PF, -PART II, LI  FORM 990-PF  DESCRIPTION  DIVIDENDS RECEIVABLE/UNSETTLED PURCHASES & SALES  TO FORM 990-PF, PART II, LINE 15  FORM 990-PF	OTHER ASSETS  BEGINNING OF YR BOOK VALUE  1,748.	END OF YEAR BOOK VALUE	STATEMENT 10 FAIR MARKET VALUE 4,228.	
TOTAL TO FORM 990-PF, -PART II, -LI  FORM 990-PF  DESCRIPTION  DIVIDENDS RECEIVABLE/UNSETTLED PURCHASES & SALES  TO FORM 990-PF, PART II, LINE 15	OTHER ASSETS  BEGINNING OF YR BOOK VALUE  1,748.	END OF YEAR BOOK VALUE  4,228.	STATEMENT 10  FAIR MARKET VALUE  4,228.  4,228.  STATEMENT 11	